UGC NET 2021 Tribal N Religion Language Lit

Topic:- 70TribalLL_A

1) The literal meaning of ‘Ho’ is
(1) Sing Bonga (2) Sarna
(3) Prakriti (4) Manushya

=1 = INfeeE Y F
(1)  faz=m (2) =
(3)  urFiE 4 wI=

[Question ID = 1604][Question Description = Q01_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6413]
2.2

[Option ID = 6414]
3.3

[Option ID = 6415]
4. 4

[Option ID = 6416]

2) Who amongst the following is the author of the book Aadivasi Sangharshgaatha?

(1) Vinod Kumar (2) Dr. Bhuvaneshwar Anuj
(3) Dr. Ramdayal Munda (4) Dr. Hari Oraon
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[Question ID = 1605][Question Description = Q02_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6417]
2.2

[Option ID = 6418]
3.3

[Option ID = 6419]
4. 4

[Option ID = 6420]

3) What do the Mundas call Nagpuri, (which is an Aryan language)?
(1) Sadani (2) Ganwari
(3) Sadri (4) Dikku-Kaji
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[Question ID = 1606][Question Description = Q03_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1



[Option ID = 6421]
2.2

[Option ID = 6422]
3.3

[Option ID = 6423]
4. 4

[Option ID = 6424]

4) Who amongst the following has written the book “Sadani folklore stories"?
(1) Rev. Father Peter Shanti Navrangi (2) Rev. Father Bouckhout

(3) Dhani Ram Bakshi (4) Dr. Nirmal Minj
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(3) e wEA (4) =1 = =

[Question ID = 1607][Question Description = Q04_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6425]
2.2

[Option ID = 6426]
3.3

[Option ID = 6427]
4. 4

[Option ID = 6428]

5) Who is the author of the book ‘Lok Sahitya Ki Bhumika’?
(1) Dr. Krishnadev Upadhyay (2) Dr. Ramdayal Munda
(3) Dr. Bholanath Tiwari (4) Dr. Bhuvaneshwar Anuj
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[Question ID = 1608][Question Description = Q05_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6429]
2.2

[Option ID = 6430]
3.3

[Option ID = 6431]
4. 4

[Option ID = 6432]

6) How many genders do you find in the Kudukh language?
(1) 02 (2) 04
3) 05 (4) 03

1 02 2 04

(3) 05 (4 03

[Question ID = 1609][Question Description = Q06_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6433]
2.2



[Option ID = 6434]
3.3

[Option ID = 6435]
4. 4

[Option ID = 6436]

7) Choose the correct option for the word formation of ‘Kurmali’?

(1) Kurma + Aali (2) Kurmaa + li
3) Kura + Mali (4) Ku + Ramaali
“FATT eE W I wE ey = 2 Y
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[Question ID = 1610][Question Description = Q07_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6437]
2.2

[Option ID = 6438]
3.3

[Option ID = 6439]
4. 4

[Option ID = 6440]

8) Who has written “Boeel Uthalak Maati”?
(1) Dr. Giridhari Ram Gaunjho (2) Dr. Umeshnand Tiwari
3) Dr. Mushtaq Ahmed (4) Dr. Khalique Ahmed
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[Question ID = 1611][Question Description = Q08_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6441]
2.2

[Option ID = 6442]
3.3

[Option ID = 6443]
4. 4

[Option ID = 6444]

9) Who wrote English Grammar : A Study (1967), in Kuramaali?
(1) Narottamaa Singh (2) Dr. Maan Singh Mahto
3) Dr. Hardev Narayan Singh (4) Nandkishore Singh

FATA AT ] GEE T A T S 1967 % oEE i A 7

(1) e o (2) = 97 foE g=at
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[Question ID = 1612][Question Description = Q09_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6445]
2.2

[Option ID = 6446]



3.3

[Option ID = 6447]
4. 4

[Option ID = 6448]

10) Who has written the “Grammar of the Kol language” in “Ho”?
(1) P.O. Boding (2) J.B. Hoffman
3) Billkinson (4) A. Notrot

(1) v =tE (2) = mE
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[Question ID = 1613][Question Description = Q10_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6449]
2.2

[Option ID = 6450]
3.3

[Option ID = 6451]
4. 4

[Option ID = 6452]

11) What is Lujhari?
(1) Folk Dance (2) Folk Drama
(3) Folk Song  (4) Folk Song and Dance

SENECIR A
(1) ==FI= (2) @ A
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[Question ID = 1614][Question Description = Q11_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6453]
2.2

[Option ID = 6454]
3.3

[Option ID = 6455]
4. 4

[Option ID = 6456]

12) Which “waad” did Jai Shankar Prasad belong to?
(1) Rahasyawaad (2) Chhayawaad
(3) Pragatiwaad  (4) Prayogwaad

FHUE THTE T AR W R 97

(1) =R 2) =rmEE
(3) wfeEm (4) TITERE

[Question ID = 1615][Question Description = Q12_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6457]
2.2

[Option ID = 6458]
3.3



[Option ID = 6459]
4. 4

[Option ID = 6460]

13) Who has written Khoratha Geeton Ka Sanskritic Adhyayan?
(1) Dr. Vinod Kumar (2) Dr. Chaturbhuj Sahu
(3) Dr. Khalique Ahmad (4) Dr. Hari Uraon
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[Question ID = 1616][Question Description = Q13_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6461]
2.2

[Option ID = 6462]
3.3

[Option ID = 6463]
4. 4

[Option ID = 6464]

14) Which of the following Indian literary texts is the earliest known work?
(1) Puranas (2) Rig Veda

(3) Sama Veda (4) Rajtarangini
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[Question ID = 1617][Question Description = Q14_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6465]
2.2

[Option ID = 6466]
3.3

[Option ID = 6467]
4. 4

[Option ID = 6468]

15) Who wrote Samajik Sarjuit Nesain?
(1) Girdhari Goswami  (2) Sriniwas Panuri

(3) A. K. Jha (4) Viswanath Dasondhi Raj

(1)  ffeard e 2 # fram o
(3) U = (4) Tavamy @ =

[Question ID = 1618][Question Description = Q15_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6469]
2.2

[Option ID = 6470]
3.3

[Option ID = 6471]
4. 4



[Option ID = 6472]

16) Who is the author of Gaidik Bhinu Bhinu Dheir?
(1) Karamchand Ahir  (2) Chandramohan Mahto
(3) Dinbandhu Mahto (4) Santosh Sahu 'Preetam’

e formen 2 e Tag-Tag =7

(1)  Fo=s 3R (2) AT TEA
(3)  fevary meal (4) Ham T fEw

[Question ID = 1619][Question Description = Q16_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6473]
2.2

[Option ID = 6474]
3.3

[Option ID = 6475]
4. 4

[Option ID = 6476]

17) Who wrote Santali Parsi Unurum?
(1) Dr. K.C. Tudu (2) Raghunath Murmu
(3) Shishir Tudu (4) Digambar Hansda

[

(1) HH. I @ T
(3) TPEmzz (4) fzm=m zm=r

[Question ID = 1620][Question Description = Q17_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6477]
2.2

[Option ID = 6478]
3.3

[Option ID = 6479]
4. 4

[Option ID = 6480]

18) Who is the author of ‘Namhai Edpa’?
(1) Dr. Nirmal Minz  (2) Prof. Indrajit Oraon
(3) Gopal Oraon (4) Justin Kumar Ekka

(1) =i o= e (2) . sEeE =
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[Question ID = 1621][Question Description = Q18_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6481]
2.2

[Option ID = 6482]
3.3

[Option ID = 6483]
4. 4

[Option ID = 6484]



19) Which language has Yogendranath Tiwari contributed to?
(1) Hindi (2) Kurmali
(3) Nagpuri  (4) Khortha

ApTgAT faard + e a8 = e e
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[Question ID = 1622][Question Description = Q19_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6485]
2.2

[Option ID = 6486]
3.3

[Option ID = 6487]
4. 4

[Option ID = 6488]

20) What is the Sohrai festival related to

(1) Lighting of Diyas (2) Cattle Worship

(3) New Harvest (4) End of rains
() & asEeE @ -7
(3) 7 wE (4) a9l w1 Fd

[Question ID = 1623][Question Description = Q20_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6489]
2.2

[Option ID = 6490]
3.3

[Option ID = 6491]
4. 4

[Option ID = 6492]

21) Which tribe worships the “Jaher era”?
(1) Santhali (2) Pahadia
(3) Baiga (4) Mahali

(1) Ta= (2) werfm
(3) = m 4) wEh
[Question ID = 1624][Question Description = Q21_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6493]
2.2

[Option ID = 6494]
3.3

[Option ID = 6495]
4. 4

[Option ID = 6496]



22) Patanjali’s great commentary (Mahabhasya) distinguishes between three types of words,
which of the following options is not referred to or discussed.

(1) Jatisabda (2) Gunasabda
3) Kriyasabda (4) Vedasabda

HETAT | UASe | % 958 AU % ATEE FH e mEl A6 2 7
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[Question ID = 1625][Question Description = Q22_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6497]
2.2

[Option ID = 6498]
3.3

[Option ID = 6499]
4. 4

[Option ID = 6500]

23) Who wrote the short story “Jori Jori re Ghato”?
(1) Rose Kerketta  (2) Julius Baa

(3) Mary Soreng (4) Joakim Dungdung

o7 weH (e fomdl 2 “Sili-=i T g2 ?

(1) 7 #gr (2) ferm =

(3) =t (4) S FTE

[Question ID = 1626][Question Description = Q23_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6501]
2.2

[Option ID = 6502]
3.3

[Option ID = 6503]
4. 4

[Option ID = 6504]

24) Who is the author of the “Treatise on sentences and words” (Vakyapadiya)?
(1) Panini (2) Bharata Muni
(3) Shankara (4) Bhatrihari

ATFIIEE o TR HH 7 7

(1)  =orE (2) g
(3 = (4) w=FElR

[Question ID = 1627][Question Description = Q24_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6505]
2.2

[Option ID = 6506]
3.3

[Option ID = 6507]
4. 4

[Option ID = 6508]



25) Patanjali said : “Since word, meaning, and their relation are established”, what does "word" mean here

(1) form (2) content

(3) syllable (4) description

(1) =] (2) fawa-awg
(3) = W (4) ==

[Question ID = 1628][Question Description = Q25_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6509]
2.2

[Option ID = 6510]
3.3

[Option ID = 6511]
4. 4

[Option ID = 6512]

26) When did the “Kol Rebellion” under the leadership of Veer Buddhu Bhagat take place?
(1) 1820-21 (2) 1831-32
(3) 1857-58 (4) 1871-72

#R 99 W F Agcd 7 F fagE w5 AqNe

(1) 1820-21 (2) 1831-32

(3) 1857-58 (4) 1871-72
[Question ID = 1629][Question Description = Q26_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6513]
2.2

[Option ID = 6514]
3.3

[Option ID = 6515]
4. 4

[Option ID = 6516]

27) When did the United Nations declare the International Decade of the World’s Indigenous people?
(1) 1957-1966 (2) 1989-1998
(3) 1992-2001 (4) 1995-2004

(1) 1957 & 1966 (2) 1989 T 1998

(3 1992 T 2001 (4) 1995 T 2004

[Question ID = 1630][Question Description = Q27_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6517]
2.2

[Option ID = 6518]
3.3

[Option ID = 6519]
4. 4

[Option ID = 6520]

28) Which British Officer wanted to capture Nilamber-Pitamber?

(1) Major Cutter (2) Col. Dalton



(3) Robert Clive (4) Warren Hastings

(1) o FX (2) T s
(3)  Ti&E Teisd (4) anA EeE

[Question ID = 1631][Question Description = Q28_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6521]
2.2

[Option ID = 6522]
3.3

[Option ID = 6523]
4. 4

[Option ID = 6524]

29) What type of drama is an “Ekanki”?
(1) of a single situation (2) of an incident

(3) of an emotional expression (4) all of the above
(1) = i (2) U EE

(3)  TF 9IS A T i ATH=ATE (4) T T
[Question ID = 1632][Question Description = Q29_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6525]
2.2

[Option ID = 6526]
3.3

[Option ID = 6527]
4. 4

[Option ID = 6528]

30) Which tribes live in Chotanagpur?
(1) Oraons, Mundas, Kharias (2) Mundas, Santals, Hos

(3) Kharias, Juangs, Asurs (4) Asurs, Juangs, Oraons

FRATE J FH-F Tt wdt 27
(1) =4, gusi, @iz (2) HvsI, gar, 7
(3) e, M, T (4) ¥R, 37, 704

[Question ID = 1633][Question Description = Q30_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6529]
2.2

[Option ID = 6530]
3.3

[Option ID = 6531]
4. 4

[Option ID = 6532]

31) Who received the Param Vir Chakra Posthumously?
(1) Tilka Manjhi (2) Telanga Kharia
(3) Pandey Ganpat Rai (4) Albert Ekka



TR TEAR 9% s T 5 B 7
(1)  Taem o= (2) =T s
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[Question ID = 1634][Question Description = Q31_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6533]
2.2

[Option ID = 6534]
3.3

[Option ID = 6535]
4. 4

[Option ID = 6536]

32) What was the Birsaite movement against?
(1) Against the Chotanagpur Tenancy Act (2) Against the farmers
(3) Against the “dikus” (4) Against the British

TsrmEa AT=ia e faeg a7

(1)  SBEEAFYE 259 e & fang (2) oA T=e[ F @953
() T = fwg (4) A F fEg

[Question ID = 1635][Question Description = Q32_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6537]
2.2

[Option ID = 6538]
3.3

[Option ID = 6539]
4. 4

[Option ID = 6540]

33) What is “angnai”?

(1) Song and dance performed in the village courtyards (2) Song sung at a funeral/gami

(3) Seasonal song (4) A curse
HTTE TR
()  a i = 9 1w v Je T (2) Tt = T ST
(3 =4 rm (4) T

[Question ID = 1636][Question Description = Q33_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6541]
2.2

[Option ID = 6542]
3.3

[Option ID = 6543]
4. 4

[Option ID = 6544]

34) What does “autochthone” mean?

(1) to exist as a refugee (2) to exist as an internally displaced person
(3) to exist as a foreigner (4) to exist as a native
HoTaTEl wEg T Hd F R

(L) T 2 faenfm



(3)  faesft (4) g

[Question ID = 1637][Question Description = Q34_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6545]
2.2

[Option ID = 6546]
3.3

[Option ID = 6547]
4. 4

[Option ID = 6548]

35) The 2nd official language of which state is Odia?
(1) Odisa (2) Jharkhand
(3) Bengal (4) Assam

S fm =g &1 fEdm g 270

(1) 3= (2) FwEEvs
(3) == (4) =mEq

[Question ID = 1638][Question Description = Q35_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6549]
2.2

[Option ID = 6550]
3.3

[Option ID = 6551]
4. 4

[Option ID = 6552]

36) What is the answer to this riddle?

“As one takes this baby in their arms, it creates a din;
but when one lays it down, it keeps quiet”. What is it?
(1) A human being (2) A Drum

(3) A Hookah (4) (4) Eyes

o0 TEel F HHEGHE TR 7
=0 = F TE A 94 W a3 W aEE 2, R W A A s 2
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[Question ID = 1639][Question Description = Q36_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6553]
2.2

[Option ID = 6554]
3.3

[Option ID = 6555]
4. 4

[Option ID = 6556]

37) Which of the following do not belong to the Nag-Aryan linguistic group?
(1) Nagpuri (2) Kurmali
(3) Asur (4) Panchpargania

Ffefiga =i ArT-s127 W @z 6w 8
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(3) L (4) TEIRFEEE
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[Question ID = 1640][Question Description = Q37_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6557]
2.2

[Option ID = 6558]
3.3

[Option ID = 6559]
4. 4

[Option ID = 6560]

38) Which of the following do not belong to the Dravidian linguistic group?
(1) Malto (2) Khendro
(3) Kisan (4) Kharia

Frefafaa 9 @ F gfas ym age fi = 20

(1) = @) =
(3)  THEm (4) s

[Question ID = 1641][Question Description = Q38_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6561]
2.2

[Option ID = 6562]
3.3

[Option ID = 6563]
4. 4

[Option ID = 6564]

39) Which flower is a very important element of the “karam” festival?
(1) Rose (2) Jawa flower/Barley Shoot
(3) Mariegold (4) Mustard flowers

TohE el =1 O ATER H HEeaul e i 7 7

(1) NEIE] (2) ==

(3) T (4) T H F
[Question ID = 1642][Question Description = Q39_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6565]
2.2

[Option ID = 6566]
3.3

[Option ID = 6567]
4. 4

[Option ID = 6568]

40) “Dali-Dhiba” has been translated into English as
(1) Alimony (2) Dowry
(3) Maintenance Money (4) Bride Price

-

(1) === == (2) ==+
(8) o wA (9 FgTA

[Question ID = 1643][Question Description = Q40_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1



[Option ID = 6569]
2.2

[Option ID = 6570]
3.3

[Option ID = 6571]
4. 4

[Option ID = 6572]

41) According to Jagadish Trigunaayat:

(A) In order to understand the emotions in Munda songs, it is necessary to understand the meaning of the various
components of nature.

(B) Munda songs are devoid of similes from nature.

(C) How can a Munda singer forget the immortal revolutionary and guiding leader Birsa Bhagwan.
(D) In a few songs, Munda singers have not paid tribute to the memory of the father of the nation.
Choose the correct answer from the options given below :

(1) (B) and (D) only

(2) (A) and (C) only

(3) (C) and (D) only

(4) (A) and (B) only

FEr BreTEE & A

(A) Tl @l & = 3 H T o+ fod TH & e # 99 Ty | SEvEE A
(B)  wHfd F wHE IqwEA ¥ A grsi—fia @l 13 7

(C)  Hvs! Ta®e 315 AL Fl-ahr] 377 TA-TEoh—a] SR Wam H HH o Tl 77

(D) % TMial ¥ wefgar i =92 4 gusT-tiiasnl 3 HA9 agrter AT T8 = 2|
= fam v famel 4 9 99 I #5199 Fifan

(1)  Fa (B) 317 (D)
(2) = (A) H#T(O)
(3) ¥ (C) 37 (D)
(4)  Fa (A) 3 (B)

[Question ID = 1644][Question Description = Q41_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6573]
2.2

[Option ID = 6574]
3.3

[Option ID = 6575]
4. 4

[Option ID = 6576]

42) According to Jagadish Trigunaayat :
(A) Festivals are not an important part of the deprived and miserable Mundas.
(B) The joyful aspects of their lives are echoed in their songs.

(C) The songs are a vivid description of the poverty, the hunger, bad weather/cold weather and other difficult situations
they are faced with.

(D) The sentiments and emotions of love and affection do not find expression in munda songs.
Choose the most appropriate answer from the options given below :

(1) (B) and (C) only



(2) (A) and (B) only
(3) (C) and (D) only
(4) (A) and (C) only

FEr BT % A

(A)  FUEIHA ® 3 S AME-W =T F 9 F S gwed T4 Al
(B) USI-Til § W@ F IgEAT 9A Aot 5 |
(C) it @ WA, ym, 3vs onie fawe itfeafaat = s91 wEw 9uE 2

(D) U ¥R HE % 9 9 = gee de | 6 e

Hre 23U o fasedi 9§ TeE UG I H WA A

(1)  Fad (B) 3R (O)
(2) =4 (A) # (B)
(3) ¥ (C) 3R (D)

(4) A (A) 37 (C)

[Question ID = 1645][Question Description = Q42_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6577]
2.2

[Option ID = 6578]
3.3

[Option ID = 6579]
4. 4

[Option ID = 6580]

43) According to Dr. B. Veerottam :

(A) Before the arrival of the Uraons, the Mundas were the dominant tribe in Chotanagpur.

(B) Munda people (both men and women) are not fond of jewellery and ornaments.

(C) The members of the same Kelee (Gotra) do not consider themselves to be the descendants of a common ancestor.
(D) The Munda tribe was divided into two branches - Mahali Munda and Kompat Munda

Choose the correct answer from the options given below :

(1) (B) and (D) only

(2) (A) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

(A) 0l % HAH H URel DIEZEFE = FAGET § ST G0 THEe 9
(B)  gUsT (Afzen-UEW) FEMS HAE =Y ° A0 7 5 2

(C) v Tobefl (TT11) % Ty 3194 1 U F ga i Gadl T2 AEd 4|

(D) = gust Aiid 21 v o faww ot geedl gust sii see gue)
Hr= T3 Tu ool § § w3 W =9I I

(1) = (B) #i (D)
(2)  Fa (A) 7R (C)



(8) == (C) #H (D)

(4) A9 (A) ¥R (D)

[Question ID = 1646][Question Description = Q43_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6581]
2.2

[Option ID = 6582]
3.3

[Option ID = 6583]
4. 4

[Option ID = 6584]

44) According to Dr. Krishnadev Upadhyaya :

(A) ‘GARBA’ is a very famous folk dance from Gujarat which, is a beautiful synchronisation between lyrics and music.
(B) ‘GHORA’ is a popular dance in Assam.

(C) A folk dance called ‘MAANCH’ is famous in Malwa.

(D) ‘BHANGRA’ is performed in Jharkhand.

Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (C) and (B) only

(3) (D) and (B) only

(4) (C) and (D) only

=T, FOET T F IR

(A) A H TET AEE AT 951 Uiag 7, T e AR 5 # Gt SHe O S 2
B) T T FEH F AHG T 2

(C)  =reET | g THF Al UiEg 7

(D) FwEs | 9erel 04 7 2
Tfafaa foeal 8 ¥ oF 3 9 ¢

(1) 9 (A) R (0)
(2) F== (C) 3 (B)
(3)  Fa= (D) 3 (B)
4  F== (O) 3% (D)

[Question ID = 1647][Question Description = Q44_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6585]
2.2

[Option ID = 6586]
3.3

[Option ID = 6587]
4. 4

[Option ID = 6588]

45) According to Dr. Chaturbhuj Sahu :

(A) There are no folk songs that deal with the pain of separation of siblings, their happiness and sorrows, of a girl’s
attachment and love for her maternal home, etc.



(B) There are a number of folk songs that celebrate the platonic love between brothers and sisters.

(C) Planting of saplings in the fields is symbolic of karma and protecting plants is symbolic of preserving the environment.
(D) The planted seeds sprout after four - five days and grow up to three to four feet.

Choose the correct answer from the options given below :

(1) (B) and (D) only

(2) (A) and (B) only

(3) (B) and (C) only

(4) (C) and (D) only

(A) wE-w= & fEm, gE-ga, 9% % 9 FsH F o9 g iz ® goted wE A 6

(B)  WE-FE % s U AR A A EF A W Fewiega S A
(C)  @dl @ TIEiat] &1 WSAT 6 i 1 TAE £ a9 US1 Sl 7 AT TEE T A 2

(D) =R-9F &7 F 9 39 ° 3 1 A9 A = 198 5 9% ag 99 2

Hr fou U faeat 4§ @ 3T 0 =9I i

(1) = (B) 31 (D)
(2) A (A) 3R (B)
(8)  F== (B) 31 (O)
(4) = (C) 31 (D)

[Question ID = 1648][Question Description = Q45_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6589]
2.2

[Option ID = 6590]
3.3

[Option ID = 6591]
4. 4

[Option ID = 6592]

46) According to Jagadish Trigunaayat :

(A) In order to educate society, all literature should be composed in the language of the masses.

(B) Educationists from around the world are accepting that young children should be taught in their mother tongue.
(C) Educationists of the world agree that the education of young children should not be through their mother tongue.
(D) Less talented singers could find it difficult to recollect forgotten verses of songs.

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (C) and (D) only

(3) (A) and (C) only

(4) (B) and (D) only

ST e % SE

(A)  TET F e F F oA w0 wiEer oAt 8 w5 w0 S =9he

(B) =ER & framenE 7 HHien w9 w 7 {5 9 g H faer s ager 8 & 2 =i



(C)  =Ew & e 9z w=ien w5 w & % sr-a= 6 e s g @ 195 2 =)

D) F3 Yol 55 i F fHem o= 9rgt yfadmare mEw # fore waa v 2
= fou o faseal 4§ 9E I 1 = i

(1) =3 (A) 311 (B)
(2) %= (C) 3R (D)
(3 A (A) 37 (O)
(4) &= (B) 3 (D)

[Question ID = 1649][Question Description = Q46_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6593]
2.2

[Option ID = 6594]
3.3

[Option ID = 6595]
4. 4

[Option ID = 6596]

47) According to Dr. Chandrakant Verma:

(A) Families do not provide their members with mental security and contentment.

(B) Administrative duties in tribal societies are carried out by a headman (mukhiya).

(C) Since the family is the basic yet significant unit of society, the family has many important roles to play.
(D) The family is an educational institution where the child is not taught the first lessons of citizenship.
Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (C) and (D) only

(3) (B) and (C) only

(4) (A) and (B) only

Si. Trgehi 99 ® AN

(A)  TfER A9 TN F AEEE AT 3 TN 92 A R A

(B)  SeaTdE HATAT § WG SHSE4] UF GhaE1 % AT e A
(C)  wfar gurs 1 wF nuRyE Ud gEEnl SHIE 2, 39 W01 UfE 3 gEeau #e 2|

(D) wHaR 98 foar-geum & Sl 5 serh 1 AT 1 999 918 91 99 S 2|

Fr= fou U faeat 9 9 wE I R == it

(1) 39 (A) 37 (C)
(2) ¥ (C) 3 (D)
(3) == (B) 317 (C)
(4)  FA9(A) FR(B)

[Question ID = 1650][Question Description = Q47_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6597]
2.2

[Option ID = 6598]
3.3



[Option ID = 6599]
4. 4

[Option ID = 6600]

48) According to Dr. Chandrakant Verma :

(A) If a member of the same gotra falls ill, the other gotra members will arrange for his care and treatment, etc.

(B) It is easy to control the members of a gotra because all members do not know one another closely and personally.
(©) The composition of a tribal organisation is such that rules of the gotra are followed.

(D) The Head of the gotra does not follow the policy decisions and regulations for his community.

Choose the correct answer from the options given below :

1) (A) and (B) only

(2) (B) and (C) only

3) (C) and (D) only

(4) (A) and (C) only

=i, HegHied 91 & AR

(A) =2 U= F HE = IAEE 7 AW E Al T A SHF SE-0g A i e =l smaen
B) T H W F AR FE ACI T ® A W1 2 T T A G UF g5 H 9HE a9
=ihe 9 | Ta A 7

(D) T % ghEE A #EE F fen fifa frafto sw e w1 aes @5 w2

4= fav o faweTl 1 © OF I =99 Firu

(1) 4 (A) 3% B)
@  FaE (B) 3 (C)
(3) =4« (C) AT (D)
(4)  FAE(A) 377 (O)

[Question ID = 1651][Question Description = Q48_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6601]
2.2

[Option ID = 6602]
3.3

[Option ID = 6603]
4. 4

[Option ID = 6604]

49) According to Dr. V.N. Dinesh :

(A) If a pregnant woman or a young child dies, their bodies are buried in Sasan (hadgadi).

(B) Mundas belonging to one gotra do not use the hadgadi of Mundas belonging to another gotra.
(C) Among the Mundas, both men and women participate in the funeral procession.

(D) Mundas do not follow the custom of inviting dead spirits to their homes.

Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (C) and (D) only

(3) (B) and (D) only



(4) (B) and (C) only

=i, #fi.w 2w % e

(&) Tl AfEeT = T, T = A SEmEE 9o B W A (FEED) H g e A
(C)  gusiaAl ® 3 =mn =it 9o =t & foad =i g wfi 9 2

(D) US| ga A F OO A i W T E
I f2u T AT 5 | wE I = Fia

(1) == (A) 3 (C)
@  F (0) 3 (D)
(8)  Fa (B) 3 (D)
(4  F= (B) i (C)
[Question ID = 1652][Question Description = Q49_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6605]
2.2

[Option ID = 6606]
3.3

[Option ID = 6607]
4. 4

[Option ID = 6608]

50) According to Dr. Chandrakant Verma :

(A) Stated briefly social anthropology does not include a comparative study of human society.

(B) At the level of specialisation and interpretation, society and culture are two different concepts.

(C) Early anthropological studies did not lay much emphasis on social organisations.

(D) Not only do human beings have a society, even animals, birds, insects and worms have societies of their own.
Choose the correct answer from the options given below :

(1) (B) and (D) only

(2) (A) and (C) only

(3) (C) and (D) only

(4) (A) and (B) only

=i, g 9H & ATEN

(A)  H&HY | HE S THAT 7 6 gorEY W G U 9T HATS qeATeA® A T8 Sl

(B) 7R 79 faRife 3R =W & 90ae W 3 9 FES R T 3F1 (99 A9 # |

(C) @M H7a- = 94 W TREEF 9 9§ AT W AE e S o)
(D)  HATH 7 Hael SAEA 1 AU T-TiEE S g -TRst B H T FE v 2
i fau o el 9 T wE I H1 9E A

(1) ¥4« (B) 3% (D)

(2) === (A) F:(C)

(3) @& (C) 31 (D)



(4) A (A) 3R (B)

[Question ID = 1653][Question Description = Q50_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6609]
2.2

[Option ID = 6610]
3.3

[Option ID = 6611]
4. 4

[Option ID = 6612]

51) According to Dr. Krishnadev Upadhyay :

(A) There is no major difference between ancient folktales and modern stories.

(B) Folk tales are mostly written in prose, but poetry is used in between the prose as well.

(C) Ancient anecdotes about Pururva, Urvashi, Vishwamitra, about rivers, Yama and Yami are not to be found in the Vedas.
(D) Folk tales are written in a simple, straight forward style in short sentences.

Choose the correct answer from the options given below :

(1) (A) and (D) only

(2) (B) and (D) only

(3) (B) and (C) only

(4) (D) and (C) only

(A) A FAE-FE SR ATHE wEiE | w81 HA= A7 2

(B)  AH-HAT TaHA: T H B GE Al # Wed s=-s § 9= o € S e T g

(C) =31 ¥ giar =ik Zouit, favanfas #i Jfeat qur a9-=dt = wr=ie 3umeae ue T8 9 2

(00 ) I 1 e v = e 2 e M = 2 =11 = 1 e M o A - = B e e (e 1 B 2 e 1 1 L A

= fou o fameul 4§ wE 3 1 = i

(1) =&« (A) 311 (D)
(2) %= (B) 3R (D)
(3) %4« (B) 3R (C)

4)  Faw (D) 31 (O)

[Question ID = 1654][Question Description = Q51_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6613]
2.2

[Option ID = 6614]
3.3

[Option ID = 6615]
4. 4

[Option ID = 6616]

52) According to Vinod Kumar :

(A) Many villages located in the north-east of Khunti were changed from the Khutkhatti village to the General Revenue
Villages category.

(B) The entire paragana of Siri, covered by forests, has been the home of the simple Mundas and Kols.



(C) The Commissioner has observed that it being a Khutkhatti village, there may be majhihas land over there.

(D) The Khutkhatti status of the entire Paragana was deliberately not cancelled, nor was it declared a general area.
Choose the correct answer from the options given below :

(1) (B) and (C) only

(2) (A) and (C) only

(3) (C) and (D) only

(4) (A) and (B) only

foriTs M % AFEN ;

A) WA F I F e T weAA - @ wee T i e
(B)  =Egvl o T, S Sl d sresiicd 2, W qUs widl w0 & @ A

(C) T = 9PN 6 A% TiE gzEl M 7, JEre, J6 At wHE B w2

(D) g L IO % WeETEl F R @I R SH AT &9 % =9 ° =i T8

= feu o faweul A § wE 3 F == i

(1)  F&= (B) 31 (C)
(2 FaE (A) 3 ()
(3)  FA (C) 31 (D)
4)  FEE(A) 3 (B)

[Question ID = 1655][Question Description = Q52_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6617]
2.2

[Option ID = 6618]
3.3

[Option ID = 6619]
4. 4

[Option ID = 6620]

53) According to Dr. Aditya Prasad Sinha :

(A) According to tribal folk belief their God Bonga, Goddess Era and the Spirit (Roa or Mua) resides in nature.
(B) In the stone age, human being may have lived in huts.

(C) One baudi equals ten kupas but ten baudis do not equal one tree.

(D) Tree plantation is not permitted from a religious point of view.

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (C) and (A) only

(3) (B) and (C) only

(4) (D) and (B) only

Si. ATEed wanE faea % e

(A)  SAEE A FTEE F SR 39 29 9 AR 3 o 3 99 (Uen @ gen) wEd 6 fam
'}a{il ?'s|
(B) T I § A A FUTSAT 1 SO 9L SHET A

(C) =6 %1 =+ SR UF 1391 7l 2, Teg 28 9351 = SO OF 34 Fal w6 2|



D)  =fdF giew & of ge w1 e FoeE 1@ 2

(1) = (A) 317 (B)
(2)  Fa (C) 317 (D)
(3) Fa= (B) 31 (O)

(4) 9= (D) 37 (B)

[Question ID = 1656][Question Description = Q53_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6621]
2.2

[Option ID = 6622]
3.3

[Option ID = 6623]
4. 4

[Option ID = 6624]

54) According to Dr. Sushil Kerketta:

(A) All societies have rules that govern them.

(B) Society functions on the basis of social mores and customs.
(C) There may be many communities in a society.

(D) A society needs a prescribed space (land /area).

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (D) and (C) only

(3) (A) and (C) only

(4) (D) and (A) only

(A) =T A Fw T A F B d s e =l A
B) T q FEg a wm ffa-fas o =em )
(C) UF §aTa § % §95F 7 a4 2

(D) TETE = fom s g-um w1 7 sTEvEE 2

Hi fou U faweul 4 © E 3 #1 9E Hifau

(1) ¥4 (A) 37 (B)
@  Fa= (D) #F(C)
(8) A (A) 3 (C)
(4)  Fa= (D) 3 (A)

[Question ID = 1657][Question Description = Q54_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6625]
2.2

[Option ID = 6626]
3.3



[Option ID = 6627]
4. 4

[Option ID = 6628]

55) According to Giddings :

(A) Society itself is a union, organisation and the sum total of formal relations wherein colleagues are mutually bound to
each other.

(B) According to Shyuter - society is reflects the complexities of multiple connections and relationships between two or
more members of a group.

(C) Society is a union of illiterate people wherein mutual relations are established.

(D) Society is a product of a mental process which results in the commencement of external acts.
Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (D) and (A) only

Giddings F 7@K :

(A)  TUTH T UF HY 7, G3A 2, A graeai w0 90 2, faed wani s g deg 2
(B) YIE % IFEN-UATS UF AGA UeE ®, T UF THE F I A I H AleF T * o fom g
TRl i FeAE F g T A

(C)  HHIF 398 S 1 T34 2, 990 9T gra-y S 241 21

(D) =T AETGE Y1 F 509 B, (H0H §EY B UeE 24 Al 2

Ji= feu v faeat 4 O wE I = i

(1) == (A) 311 (B)
(2) = (B) 3R (C)
(3) & (C) 3% (D)
4)  F= (D) [ (A)

[Question ID = 1658][Question Description = Q55_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6629]
2.2

[Option ID = 6630]
3.3

[Option ID = 6631]
4. 4

[Option ID = 6632]

56) What is life?

(A) Sat, chit and anand are the three gunas of nature.

(B) Knowledge does not lead the development of science and philosophy.
(C) Life is fulfilled by desire, action and knowledge.

(D) Nature and Science have a close relationship with life.

(E) Digression implies enjoying the pleasures of life.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), (C) and (D) only

(3) (A), (C) and (E) only



(4) (B), (D) and (E) only

i T R
(A)  TFHA F T, fog A0 A== d1 I FE T E
(B) T fEEE S S S T w2

(C) = s=1, 4 =N FH | 70 wa 2|

(D) v R o= = SieT o TE e 2|

(E) W24 %1 a109d 20T AEd F AEE AT

1 T30 U faweai § | @9 I w0 =9 FIA

(1)  Fa= (A). (B) 7 (C)
(2 F (A). (O) @ (D)
(3)  F& (A), (C) ¥ (B)
(4 = (B). (D) 3% (E)

[Question ID = 1659][Question Description = Q56_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6633]
2.2

[Option ID = 6634]
3.3

[Option ID = 6635]
4. 4

[Option ID = 6636]

57) What is art?

(A) Art is a creation of human culture.

(B) Art does not provide mental pleasure.

(C) Art has two forms - utility art and fine arts.
(D) Human beings are not the creators of art.
(E) Both arts have developed simultaneously.
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (E) only

Foell FAT 27

(A) =T TG HERA F 3T 2

(B) el ® HEGE A i WH 7w A
(C) el = 31 =Y IUATT FeA] AT AleTd ol 7
(D) T FeA1 FGAF T4l £

(B)  =Hi Fone #1 fwm mg-m 297 2

= fou TIv feehewl | 9 @R 39 1 9 i

(1) F=E (A (B) 3717 (0)



(2 4 (B), (C) 371 (D)
(3)  F=9 (C), (D) ¥ (E)
(4)  F=9 (A). (C) 31 (E)

[Question ID = 1660][Question Description = Q57_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6637]
2.2

[Option ID = 6638]
3.3

[Option ID = 6639]
4. 4

[Option ID = 6640]

58) According to Dr. V. N. Dinesh:

(A) The Hadgadi (Sasandiri) of a Munda will always be located in his/ her native village.

(B) The Munda women of the Tamad area, participate in the funeral processions of their dead.
(C) It is not very common amongst the Mundas to cremate the dead.

(D) Mundas belonging to one gotra use the hadgadi of Mundas belonging to another gotra.
Choose the correct answer from the options given below :

(1) (C) and (D) only

(2) (A) and (C) only

(3) (B) and (C) only

(4) (A) and (D) only

Q) TUE T A T g A R - A (FEEt) 35§ o A w2 2
(B) @IS & % HUSIE i WA § AfEenE F FH il W F
(C)  gUsiarl gHT 9 =l el =i T SEd 2 FH 2

(D) T TEE GUST 35 A 9 qUST F BTSN 1 I H F

= e T fashedi @ @ wE T R = R

1) =9 (C) 3 D)
(2)  Fa (A) 3 (C)
38) = (B) 37 (O)
4)  FF9 (A) 3 D)
[Question ID = 1661][Question Description = Q58_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6641]
2.2

[Option ID = 6642]
3.3

[Option ID = 6643]
4. 4

[Option ID = 6644]

59) What are the characteristics of folk songs?
(A) Folk songs are related to the vicissitudes of folk life.
(B) Folk songs express the emotions of life.



(C) Folk songs do not express the emotions of life.

(D) Folk songs express the vicissitudes of life.

(E) Folk songs are not solo or group songs.

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only (2) (B), (C) and (E) only

(3) (B), (D) and (E) only (4) (C), (D) and (E) only

(A) = Al F TS o A9 3 9 gE 2|
(B)  =F A A T F 9E ATHeE 2 A

(C) = Miai A S99 % 99 981 24 3

@) = Tl 4 F=E % gE-gaE e B

(E) =i fiq wshel =1 59 i A T4 2

= fau o faweui 4 9 wE 3 # == i

(1) == (A). (B) 7 (D)
@ ¥ (B). (C) 37 (E)
(3  Fa (B). (D) 3 (E)
(4 == (C). (D) ¥R (E)

[Question ID = 1662][Question Description = Q59_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 6645]

2. 2 [Option ID = 6646]

3. 3 [Option ID = 6647]

4. 4 [Option ID = 6648]

60) Which are the different genres of literature?

(A) Literature necessitates specific genres.

(B) Civilised literature is classified into two genres - prose and poetry.

(C) Apart from prose - poetry, folk literature includes various other genres.
(D) Literature does not include folk elements.

(E) Literature includes only the story element or the plot.

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only

(2) (A), (B) and (C) only

(3) (B), (€) and (D) only

(4) (C), (D) and (E) only

(A)  TE § faun 99w = sy wen 2|
B) o wfees = T i T A e § i e s 2
(C) F-"ifaed | T-T" % A o= st % =0 wem-sem w2

(D)  ®iecd § @i o JATEd 921 2l 7

(E)  Hieca 9 el U1 avF 1 THEE EAT F

Hi= fou U AT | O wE 39 1 99 iAo

(1) 99 (A), (B) #1T (D)



2  F=E (A), (B) 31 (C)
(3) %44 (B), (C) 51T (D)
4) A (C). (D) 3T (E)

[Question ID = 1663][Question Description = Q60_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6649]
2.2

[Option ID = 6650]
3.3

[Option ID = 6651]
4. 4

[Option ID = 6652]

61) Which are the major trends in Chhayavad?
(A) Sense of Aesthetics

(B) Sense of Love

(C) Sense of Hopelessness

(D) Sense of Mystery

(E) Sense of Suspicion

Choose the correct answer from the options given below :
(1) (A), (D), (E) only

(2) (A), (B), (D) only

(3) (B), (C), (D) only

(4) (©), (D), (E) only

e i T i w4 E ¢
(@) -

B) UH-EAT

(C)  fFm-vE

D) T==-gE

(E) -9

Hi= feu v fasweui 4 @ GE 3 #1999 FifAu

1) Fa (A). (D). B)
@  FaE (A), (B). (D)
3  Fa (B). (C). (D)
4) == (C). (D). (B)
[Question ID = 1664][Question Description = Q61_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6653]
2.2

[Option ID = 6654]
3.3

[Option ID = 6655]
4. 4

[Option ID = 6656]



62) What are the characteristics of the Paika dance in tribal society?

(A) The Paika dance is unparalleled as a dance for special occasions, festivals, celebrations and for welcoming of the
marriage party, among the various dances of Jharkhand.

(B) In Sadan society, the Paika dance is the most attractive, exciting, energetic, interesting, heroic dance which is devoid
of lyrics.

(C) The sound of drums and other instruments is mellow.

(D) Paika is a male dominated dance.

(E) Women dance wearing colourful Saris and ghungroos/ bells around their ankles.
Choose the correct answer from the options given below :

(1) (A), (B), (C) only

(2) (B), (C), (D) only

(3) (A), (B), (D) only

(4) (©), (D), (E) only

(A)  FEE I § A R A 3T 9" TEAE 9 904 & A § U 9o F FE F96 T
=

L}

(B)  =nfeATHi-Ta TATS U3 O JA1 B GEH IAEEF, o, A, THARSE SR, 1

Tfed 779 21
(D)  TEH TE9 TGH T 7

(B)  ©f= grdh, aid, 90 § guE v = a3 w2

Hi fou o faweul 4 © oE 3 %1 99 iAo

(1)  FF9 (A, (B). (O)
(2  Fad (B), (C), (D)
(3)  Fa (A, (B). (D)

(4  F=F4(C). (D). (B)
[Question ID = 1665][Question Description = Q62_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6657]
2.2

[Option ID = 6658]
3.3

[Option ID = 6659]
4. 4

[Option ID = 6660]

63) What is the status of women in Santhal Society according to Dr. Doman Saha Sameer?
(A) Women have an equal status in Santhali society.

(B) They are not usually faced with hatred or humiliation.

(C) A Santhal woman are not able advisors and competent assistants to their husbands.
(D) One does not need to pay the bride price for a Santhali woman.

(E) After marriage, a Santhali woman is considered to be the husband’s property.

Choose the correct answer from the options given below :

(1) (A), (B), (E) only



(2) (B), (C), (D) only
(3) (D), (B), (E) only
(4) (C), (D), (E) only

37, SIHF T1E THR % SR AT AEeE w1 Jare JuT 9 56 TE R

(A) Ta @uT ° fEE w G T O 2

(B) HIYRVE: 3= g AT SUHE H {FIIH TE HA TS

(C) =T =i 39 ufd il G FAEFHR AT TEF HEFIR A6 BT FAl 7
(D) 38 Ul % T § WH FA H w4 qoF A1 5 O340 2

(E) Toa1E % =12 9 3194 Ui =i geqid ougi Jdt 2|

= fEu U e 5 | wE 3 =E i

1)  F=4(A). (B). (E)
(2) = (B), (O). (D)
(3)  #== (D). (B). (E)
4  Fa (0). (D). (B)

[Question ID = 1666][Question Description = Q63_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6661]
2.2

[Option ID = 6662]
3.3

[Option ID = 6663]
4. 4

[Option ID = 6664]

64) Which among the following are sub-Vedas (Upveda)?
(A) Ayur Veda

(B) Gandharva Veda

(C) Dhanur Veda

(D) Philosophy

(E) Ethics

Choose the correct answer from the options given below :
(1) (A), (D), (E) only

(2) (©), (B), (D) only

(3) (B), (C), (E) only

(4) (A), (B), (C) only

(A)  HEE
B) A T
(€) R

(D) == T=

(E) g o=



A U U el H H Hal 3 &l =351 =hilAY

1) F=E (A). D). (B)
(2)  F44 (C). (B). (D)
(3) == (B). (O). (B)
@  FEE A). B). (©)

[Question ID = 1667][Question Description = Q64_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6665]
2.2

[Option ID = 6666]
3.3

[Option ID = 6667]
4. 4

[Option ID = 6668]

65) Which are the different types of Angnai dance among the Nagpuris?
(A) Asaari dance

(B) Khemta dance

(C) Lujhari dance

(D) Khaddi Lujhari dance

(E) Thadia

Choose the correct answer from the options given below :
(1) (A), (D), (E) only

(2) (B), (C), (E) only

(3) (C), (D), (E) only

(4) (A), (B), (C) only

TG | ST T F FE-EE H HE A7

(A)  EE TF

B) vEma

© =

(D) T T 3
(E) =3fem

= fau o fawedt 4 9 oF1 I W =9e Fia -

(1) == (A). (D). (B)
2 == (B). (O). (B)
3  F& (0). (D). (B)
4)  FAF (A), (B). (O)
[Question ID = 1668][Question Description = Q65_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6669]
2.2

[Option ID = 6670]
3.3

[Option ID = 6671]
4. 4



[Option ID = 6672]

66) Match List | with List Il :

List | List Il
Poets Poems
(A) Nunku Soren ) "Baha Sereng"
(B) Manindra Hansda () "Karam Sereng"
(C) W.G. Archer (lll) "Devi Dasain Sereng"
(D) Balaram Tudu (IV) "Horh Sereng”

Choose the correct answer from the options given below :
(1) (A)-(n), (B)-(l), (C)-(IV), (D)-()
2)  (A)-(), (B)-(I), (C)-(1n), (D)-(IV)
(3)  (A)-(I), (B)-(IV), (C)-(), (D)-(IT)
(4)  (A)-(IV), (B)-(1), (C)-(IN), (D)-(1T)

He-1 % =g -1 1 e Fifso
H\Eﬁ'l THI-1T
el ()
@ 37 = @ =E E
(B) #Fs w7 (I) =\ T
() swry, . s () i s
(D) == Z0s @V) =

i1 f3u o faeeal 9 | wE I T = i

(1) (A)-ID), (B)-(IID). (C)-IV). (D)-(D)
(2)  @-D. B®-ID. (C)-III). (D)-IV)
(3)  (A)-ID). (B)-AV). (C)-@D). (D)D)
4  (A-aV). B)-D,. (C)-dI), (D)-(IID)
[Question ID = 1669][Question Description = Q66_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6673]
2.2

[Option ID = 6674]
3.3

[Option ID = 6675]
4. 4

[Option ID = 6676]

67) Match List | with List Il :

List | List Il

Names Meanings
(A) Nirguna Brahman ) One God or Ishwara
1, S0 iz s v
(C) Sahaguna (Ill) Competent Being

(D) Singbonga (IV) Supreme Being



Choose the correct answer from the options given below :
(1) (A)-(), (B)-(I), (C)-(1N), (D)-(IV)
(2)  (A)-(I), (B)-(1), (C)-(1), (D)-(IV)
(3)  (A)-(), (B)-(IV), (C)-(1), (D)-(I)
(4)  (A)-(1V), (B)-(D), (C)-(1), (D)-(1)

Hei-1 % =g -1 #1 e Fifso
i1 Gt
(=) (=)
(&) T @ Y T
(B o @D ofg s e, PR svem
(©) == (IID) == =
(D) fommarm (IV) TEoE T

= fau v Tl | ° 9E I S 959 Sifan

(1 (A-O. B)-1D). (C)-(IID. (D)-IV)
(2)  (A-adD. B)-dII). (©)-D. (D)-AV)
(3)  (A)-UD. (B)-aV). (O)-@). (D)D)
@  (A)-av). (B)-1@). (C)-a1I). (D)-(ID

[Question ID = 1670][Question Description = Q67_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6677]
2.2

[Option ID = 6678]
3.3

[Option ID = 6679]
4. 4

[Option ID = 6680]

68) Match List | with List Il :
List | List Il
Form/Book Content

) A collection of spells and

A) Ri
(A) ig Veda charons

() A collection of songs mostly taken
from Rig Veda

(B) Som Veda
(C) Yajur Veda () A collection of sacrificial formulae
(D) Atharva Veda (IV) A collection of Hymns

Choose the correct answer from the options given below :

(1) (A)-(, (B)-(IV), (C)-(1), (D)-(l)

(2)  (A)-(1n, (B)-(1), (C)-(I1), (D)-(IV)

(3)  (A)-(1V), (B)-(I), (C)-(li), (D)-(1)

4)  (A)-(), (B)-(1), (C)-(1V), (D)-(IN)

=1 % T g=-I1 =1 faem i



"

1 S

(A) =g () w3 31 a3 =1 =902

(B) =mEs (I) =g o foe e i = wan
(C) =¥z (T =5 ===l = 1 OF #0e
(D) 1R (IV) w1 1 TU

=1 fau o foemi @ @ w1 SR w = Fifew

(1)  A-ID. (B)-(IV). (O)-(T). (D)-(III)

(2)  (A)-IID. B)-@). (O)-ID). (D)-AV)

(3  A-AV). (B)-II). (O)-(I1D)., (D)-(T)

(4 (A)-(D), (B)-(IID). (C)-(IV), (D)-(II)
[Question ID = 1671][Question Description = Q68_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6681]
2.2

[Option ID = 6682]
3.3

[Option ID = 6683]
4. 4

[Option ID = 6684]

69) Match List | with List Il :

List | List Il

Gods Consorts
(A) Shiva ) Sita
(B) Vishnu () Parvati
(C) Krishna () Lakshmi
(D) Rama (IV) Radha

Choose the correct answer from the options given below :
(1 (A)-(), (B)-(IN), (C)-(1n), (D)-(IV)
(2)  (A)-(IV), (B)-(1), (C)-(IN), (D)-(1IT)
(3)  (A)-(1), (B)-(1V), (C)-(D, (D)-(1N)
(4)  (A)-(I, (B)-(lN), (C)-(1V), (D)-(1)

T1-1 % =19 F=-11 1 e s
T e
() (&)
@A) Fm @
B) fam (@)
© Fm (II) =&
D (N

A T2 7o fohedi § @ HE S 0 =IO




1 @-O. B)-1D. (O)-ID. (D)-@IV)
2)  (A)-aV). (B)-(D. (C)-aD. (D)-(IIL)
(3)  (A-dID. (B)-IV). (O)-0). (D)-(I)
@  (A-0D. (B)-IL). (C)-IV). (D)-(D
[Question ID = 1672][Question Description = Q69_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6685]
2.2

[Option ID = 6686]
3.3

[Option ID = 6687]
4. 4

[Option ID = 6688]

70) Match List | with List Il :

List | List Il
Dances and Songs Seasons
(B) Khaddi ()  Chait (March)
(C) Ropa (ll) Falgun (February)
(D) Asari (IV) Sawan-Bhado (July-August)

Choose the correct answer from the options given below :
(1) (A)-(I, (B)-(1), (C)-(1N), (D)-(1V)
(2)  (A)-(D, (B)-(IV), (C)-(1n), (D)-(l)
(3)  (A)-(1m), (B)-(I1), (C)-(1V), (D)-(1)
(4)  (A)-(1v), (B)-(11), (C)-(D), (D)-(1N)

-1 F =g g1 1 foem Fifso
T H1-1T
(77 A @) (FdE)
(A) @ = ()
(B) T I =4 (")
(C) Tm (IID) r=g ()
(D) Er (@IV) == "= (FeE- 577

Hi= 50 o fasheai 9 ® wE 3R A =9 i

(L A-dD. B)-@). (O)-0ID. (D)-IV)
2 A-O. B)-1IV), (C)-aD), (D)-AID
(3  (A)-AD. (B)-1D. (C)-IV), (D)-(D
4 (A)-AV), (B)-(IID). (O)-@), (D)-(ID)

[Question ID = 1673][Question Description = Q70_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6689]
2.2

[Option ID = 6690]
3.3



[Option ID = 6691]
4. 4

[Option ID = 6692]

71) Match List | with List Il :

List | List Il

Names Authors
(A) Ojoy Gada Dhiphre ) Doman Hansdak
(B) Ato Orak (Il) Chandra Mohan Hansda
(C) Manu Mati () R. Karstiars

Choose the correct answer from the options given below :
(1) (A)-(D, (B)-(I), (C)-(lin), (D)-(IV)
(2)  (A)-(1V), (B)-(D), (C)-(n), (D)-(l)
(3)  (A)-(In), (B)-(lN), (C)-(IV), (D)-()
(4)  (A)-(I), (B)-(IV), (C)-(), (D)-(IN)

Ti-1 % e FA-11 1 e Fifs
-1 1L
(F=) ()
(A) = TEs T 1 @ =HA FEE
(B) % AE (I) =5 a7 #5a
(C) = =l (III) =0, FHAHNT
(D) = 3= (IV) afe g

I3 f2u T faweT § 1 e I 9 i

(H (A)-@). (B)-1D). (C)-(IIL). (D)-(IV)
(2) (A)-IV). (B)-(D), (C)-(D). (D)-(I1I)
(3) (A)-ID), (B)-(IID). (C)-(IV). (D)-(D)
(4 (A)-I1I). (B)-(IV), (C)-(). (D)-(1I)
[Question ID = 1674][Question Description = Q71_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6693]
2.2

[Option ID = 6694]
3.3

[Option ID = 6695]
4. 4

[Option ID = 6696]

72) Match the following Plays with their respective Play Wrights :

List | List Il
Plays Play Wrights
(A) Thakur Vishwanath Shahi ) Peter Shanti Navarangi

(B) Sanjeevak Barad Aur Pinglak

Singh () Dr. V.P. Keshari



(C) Andhvishwas (1) Dr. Giridhari Ram Gounjhu
(D) Akhara Ninday Gelak (IV) Teen Kondi Sahu

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(1), (C)-(1V), (D)-(1N)

(2)  (A)-(1V), (B)-(I1), (C)-(1), (D)-(l)

3)  (A)-(1V), (B)-(1), (C)-(1D), (D)-(IN)

(4)  (A)-(In), (B)-(lN), (C)-(), (D)-(IV)

w1 = @ geii-I1 =1 e it Fefafa Tes 3w s & @ gafea Fif

Tet-1 FLIT
() ()
(A) 3R Tavamy wmE (D T o T
(B) TaF ag W= e o D) = Fe
(C) sAg-Tawam (TIT) =7, Fifvadt T g
(D) 3T FEm o (IV) i == 717

I f2u T fameT O | TE 39w 9= i

(1)  (A-AD. B)-(D. (O-(IV). (D)-(I1I)
(2)  (A)-aV). (B)-(D). (C)-(D. (D)-AID
(3)  (A)-AV). (B)-(D). (C)-(1D). (D)-(ID
4 (A)-AD. B)-d1I), (O)-(D. (D)-0V)
[Question ID = 1675][Question Description = Q72_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6697]
2.2

[Option ID = 6698]
3.3

[Option ID = 6699]
4. 4

[Option ID = 6700]

73) Match the following story titles with their authors :

List | List Il
Books Authors
(A) "Kaanti" ) Suresh Chandra Rai
(B) "Raddi Kajaz" () Dr. V. P. Keshari
(C) "Chandru" (lll) Sahani Upendrapal Nahan
(D) "Sahiya Maainy" (IV) Praful Kumar Rai

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(1), (C)-(1V), (D)-(1N)
(2)  (A)-(1v), (B)-(IN), (C)-(1), (D)-(l)
3)  (A)-(), (B)-(IV), (C)-(In), (D)-(1IT)
(4)  (A)-(I), (B)-(1), (C)-(1V), (D)-(IN)



HHI-1 = |14 FH-11 =61 THAE =00 TS ©@>=hl = g1 T=Iigd Hel-491 = A= = GHITd =hil=Y

1 T

(9%h) (o)
(&) @ FEEZ T
(B) wi-FrTa 1D = . . T
©) == (IIT) w7t =umgred
(D) =femn wia (IV) Fz FA0 T

Jr=t fou o fomeTi 9 © wE 3 = i

1 (A)-aD. (B)-D). (O)-0V). (D)-IID

2y A-av). (B)-D). (O)-D). (D)-dID

@ AQ-D. B-AV), (O)-aD). (D)-(1II)

@  (A)-dID. (B)-(D), (C)-(IV). (D)-(II)
[Question ID = 1676][Question Description = Q73_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6701]
2.2

[Option ID = 6702]
3.3

[Option ID = 6703]
4. 4

[Option ID = 6704]

74) Match List | with List 1l :

List | List Il

Tribes Their Gods
(A) Oraon ) Ponimosoor
(B) Munda (Il)  Singi Bonga
(C) Ho (Ill) Dharme
(D) Khadiya (IV) Sing Bonga

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(IV), (C)-(In), (D)-()
(2)  (A)-(In), (B)-(l), (C)-(IV), (D)-())
(3)  (A)-(), (B)-(IN), (C)-(1n), (D)-(IV)
(4)  (A)-(IV), (B)-(1), (C)-(1), (D)-(IN)

THi-1 & = gAI-I1 =1 foemm Fifsm) fefatas sv F1 s9fa F o3an gfea i

T 1L
(et ) (3% 57

(A) =4 (I OEET

(B) Fual (I) f&f =

(C) =i (D) ==

(D) wfem (@IV) fém



A TS0 U Td=hedl H H Yzl 300 = 984 ST

(1) (A)-IID. (B)-AV). (O)-D. (D)-(I)
(2)  (A)-dD. (B)-(ID). (C)-(IV). (D)-(D)
(3)  (A-D. B)-AD. (O)-IID. (D)-(IV)
4  (A)-IV). (B)-D. (O)-@. D)-dD)

[Question ID = 1677][Question Description = Q74_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6705]
2.2

[Option ID = 6706]
3.3

[Option ID = 6707]
4. 4

[Option ID = 6708]

75) According to Jagadish Trigunayat :
(A) It is not necessary to collect and publish the entire body of oral literature to be found in the Munda language.
(B) Song, stories, proverbs, riddles, social and religious ceremonies and rituals, etc., all need to be collected.
(©) Educationists all over the world are accepting that children should be taught in their mother tongue.
(D) People generally do not pay attention to folk literature and folklore.
Choose the most appropriate answer from the options given below :
(1) (C) and (D) only
(2) (A) and (C) only
3) (A) and (B) only
(4) (B) and (C) only

ST FRTE % A

(A)  UST 9T91 F HifHE WO % H9 § U2 50 TR Difacd & HUE 70 THEE H a9 AEvESar T 2

(B) T, FaTtEl, A, gefoEl, S SR SR Fedl SEEE g ot SE & ame

HTETESAT 7

(C)  TEE % fnemem 7z wiwn w0 = 2 % 3 a=m 6 e = g | F 2 =)

(D) TORE H SF-HTEeT T AR i ST SR S w5 =

= 2 U fashedl § H BEE U ST 0 wEA HIT

(1) =« (C) =R (D)
(2) == (A) #HE(C)
(3)  F9 (A) #R (B)

(4) A= (B) s (C)

[Question ID = 1678][Question Description = Q75_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6709]
2.2

[Option ID = 6710]
3.3

[Option ID = 6711]
4. 4

[Option ID = 6712]



76) What is the correct chronological order of the following literary eras?
(A) Bhartendu era

(B) Dwivedi era

(C) Prayogwadi era

(D) Chayawadi era

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C)

(2) (B), (C), (D), (A)

(3) (C), (D), (B), (A)

(4) (D), (A), (C), (B)

FITHH F FATAR FHEATANEd AEfca® I 1 BEl SHEE F4 5 7

(A) il

®) fgd g
(C)  wEFTETE T
(D)  BEEE I

Hr= fou U fasewl A @ wE I F = i

(1 @A), B). D). (©)
@ (B). (). D). A)
3) (C). D). (B). A
4 (@D (A (). 1B

[Question ID = 1679][Question Description = Q76_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6713]
2.2

[Option ID = 6714]
3.3

[Option ID = 6715]
4. 4

[Option ID = 6716]

77) What is the correct chronological order of the following poets?
(A) Kabeer Das

(B) Bihari Lal

(C) Bhartendu Harishchandra

(D) Jai Shankar Prasad

Choose the correct answer from the options given below :

(1) (A), (C), (B), (D)

(2) (A), (B), (C), (D)

(3) (B), (©), (D), (A)

(4) (C), (A), (B), (D)



\£1) EEEHE
B) fomd o=
(C) W =fvas

(D) T TR

F= o o fawew 9 9 TE I w1 =9 Fibaw

1  @.(©).®.D
@ @A. [®B.©).D
3  B. ). D). &
@  (O). A). 3. D

[Question ID = 1680][Question Description = Q77_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6717]
2.2

[Option ID = 6718]
3.3

[Option ID = 6719]
4. 4

[Option ID = 6720]

78) What is the correct order of categorisation of Hindi literature according to Acharya Shukla?
(A) Modern period (Veergatha Kaal 1050-1375)

(B) Post medieval (Riti Kaal 1700-1900)

(C) Pre medieval (Bhakti Kaal 1375-1700)

(D) Modern Period (Gadya Kaal 1900-1984)

Choose the correct answer from the options given below :

(1) (A), (D), (C), (B)

(2) (B), (), (D), (A)

(3) (C), (D), (B), (A)

(4) (A), (C), (B), (D)

(A)  IgHEF I (7 A, . 1050-1375)
(B) I TeEEE ({fawe, 7. 1700-1900)
(C) YA wemaie (|ithaTet, H. 1375-1700)

(D)  NYHF F1a (T F1e, . 1900-1984)
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[Question ID = 1681][Question Description = Q78_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6721]
2.2

[Option ID = 6722]
3.3

[Option ID = 6723]
4. 4

[Option ID = 6724]

79) What according to Hindi Sahitya Ka Vrahat Itihaas is the correct order of the development of history writing?
(A) Nirgun Bhakti

(B) Sagun Bhakti

(C) Ritibaddha

(D) Ritimukta

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D)

(2) (D), (C), (B), (A)

(3) (B), (A), (C), (D)

(4) (C), (D), (B), (A)
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[Question ID = 1682][Question Description = Q79_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6725]
2.2

[Option ID = 6726]
3.3

[Option ID = 6727]
4. 4

[Option ID = 6728]

80) What is the chronology of Sadani folk dances?
(A) Pahil Sanjha

(B) Jhingfulia

(C) Adharatiya

(D) Bhinsariya

Choose the correct answer from the options given below :



(1) (A), (C), (B), (D)
(2) (B), (A), (D), (C)
(3) (B), (A), (C), (D)
(4) (C), (B), (D), (A)

T T T T FII SHE R

(A)  wfest @
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[Question ID = 1683][Question Description = Q80_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6729]
2.2

[Option ID = 6730]
3.3

[Option ID = 6731]
4. 4
[Option ID = 6732]

81) What is the correct order of the martyrs of Jharkhand in terms of their year of birth?

(A) Tilka Manjhi

(B) Veer Telanga Khariya

(C) Budhu Bhagat

(D) Thakur Vishwanath Shahdev

Choose the correct answer from the options given below :
(1) (B), (A), (D), (C) (2) (A), (C), (B), (D)
(3) (C), (B), (D), (A) (4) (D), (C), (A), (B)
FREYS F YR F I T F FEE O HE A R
(A) oo o
(B) =R A= wiEm
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[Question ID = 1684][Question Description = Q81_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6733]
2.2

[Option ID = 6734]
3.3

[Option ID = 6735]
4. 4

[Option ID = 6736]

82) What is the order of publication of the following Kurmaali books written by Dr. Hardev Narayan Singh ?
(A) Kurmaali Nibandh

(B) Mahipaal

(C) Ehe Dahre

(D) Kurmaali Lok Kathaou Ki Kathanak Rudhiyan: Ek Anusheelan

Choose the correct answer from the options given below :

(1) (A), (C), (D), (B)

(2) (B), (D), (A), (C)

(3) (€), (A), (B), (D)

(4) (D), (C), (A), (B)

(A)  FETEt FEy
(B)  TEOTA

© TR

(D)  FHEN AR HUIT I FAEF FiAT : TF A
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[Question ID = 1685][Question Description = Q82_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6737]
2.2

[Option ID = 6738]
3.3

[Option ID = 6739]
4. 4

[Option ID = 6740]

83) What is theorder of publication of the following books of Panchparganic Literature?
(A) Aadi Jhoomar Sangeet

(B) Vrihat Jhoomar Ras Manjari



(C) Baran Baran Phool

(D) Panch Paragania Nava Geet Aur Kavita

Choose the correct answer from the options given below :
(1) (A), (C), (B), (D)

(2) (B), (A), (C), (D)

(3) (C), (B), (A), (D)

(4) (D), (A), (B), (C)
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[Question ID = 1686][Question Description = Q83_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6741]
2.2

[Option ID = 6742]
3.3

[Option ID = 6743]
4. 4

[Option ID = 6744]

84) What is the correct chronological order of these ancient Khortha Poets?
(A) Rudra Singh

(B) Dalel Singh

(C) Bhuwaneshwardatt Sharma Vyakul

(D) Padin Das

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D)

(2) (€), (A), (D), (B)

(3) (B), (D), (A), (C)

(4) (D), (A), (B), (C)
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[Question ID = 1687][Question Description = Q84_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6745]
2.2

[Option ID = 6746]
3.3

[Option ID = 6747]
4. 4

[Option ID = 6748]

85) What is the correct chronological order of these ancient Nagpuri poets?
(A) Hanuman Singh

(B) Ghasi Ram

(C) Bahajoo Ram

(D) Mahantghasi

Choose the correct answer from the options given below :

(1) (A), (C), (D), (B)

(2) (B), (D), (A), (C)

(3) (C), (B), (D), (A)

(4) (D), (C), (A), (B)

AN F WA FHIAT F FF FOFA H TA AT TR
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[Question ID = 1688][Question Description = Q85_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6749]
2.2



[Option ID = 6750]
3.3

[Option ID = 6751]
4. 4

[Option ID = 6752]

86) Given below are two statements :

Statement | : TJharkhandi dance forms keep changing in accordance with the weather and the changing seasons.
Statement Il : Dances are also organised on important occasions.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

= 2w faw e
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[Question ID = 1689][Question Description = Q86_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6753]
2.2

[Option ID = 6754]
3.3

[Option ID = 6755]
4. 4

[Option ID = 6756]

87) Given below are two statements :

Statement | : Literature is the treasure trove of knowledge.

Statement Il : Non creation of human tendencies is Literature.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
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[Question ID = 1690][Question Description = Q87_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6757]
2.2

[Option ID = 6758]
3.3

[Option ID = 6759]
4. 4

[Option ID = 6760]

88) Given below are two statements :

Statement | : Poetry is not the most important art form.

Statement Il : Devoid of literature, music and arts, human beings are similar to animals.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

EZENUE =1 GAHE el A 2
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[Question ID = 1691][Question Description = Q88_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6761]
2.2

[Option ID = 6762]
3.3

[Option ID = 6763]
4. 4



[Option ID = 6764]

89) Given below are two statements :

Statement | : Folk culture is material progress.

Statement Il : Folk culture does not include societal rules, mores, customs, festivals and ceremonies.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
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[Question ID = 1692][Question Description = Q89_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 6765]
2.2

[Option ID = 6766]
3.3

[Option ID = 6767]
4. 4

[Option ID = 6768]

90) Given below are two statements :

Statement | : Folk literature is the expression of a spontaneous and natural folk psyche. It is a part of the undocumented
oral tradition, passed down from one generation to another through word of mouth. Folk literature is generally anonymous
and belongs to a community.

Statement Il : Folk literature is the literature of the non-literates living in rural areas, in villages far away from urban
centres and towns. It is literature that has been adopted and adapted by the ‘folk’ since primitive times.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
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[Question ID = 1693][Question Description = Q90_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6769]

2.2

[Option ID = 6770]

3.3

[Option ID = 6771]

4. 4

[Option ID = 6772]

Topic:- 70TribalLL_B

1)

Read the following passage and answer the question that follow :

“There are two aspects of cultural consciousness—theoretical and melodious,
intellectual and emotional”. The former 1s mainly related to logic and use whereas, the latter
is related to sentiments and belief. The first paves the way for life. values and symbols, the
second disseminates and refines sentiments. Implicit in one 1s the world view of the society
whereas the second embodies its aesthetics. The main task of art is to transmit and establish
life values and symbols in terms of the sentiments of the masses. The manner in which a
song or a story effortlessly transmits the realities of life and ideals to the common people. the

same 1s not possible for other mediums.

Thus, art is the living medium and trusted fellow-traveller for protecting and

developing cultural consclousness. Its Importance cannot be denied.

Art and culture are essentially linked with one another. The development of one implies
the development of the other and the decline of one is naturally implicit in the decline of the
other. The development of culture means the development of art and the development of art

means the development of culture.
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What is an appropriate title for this passage?

(1)
(3)

Cultural consciousness (2) Art and Culture

Life Values (4) Society and Culture

=9 3=HE 1 I9GT ATH 74 B

(1)
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[Question ID = 1694][Question Description = Q91_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6773]

2.2

[Option ID = 6774]

3.3

[Option ID = 6775]

4. 4

[Option ID = 6776]

2)

Read the following passage and answer the question that follow :

“There are two aspects of cultural consciousness—theoretical and melodious,
intellectual and emotional”. The former 1s mainly related to logic and use whereas. the latter
1s related to sentiments and belief. The first paves the way for life, values and symbols, the
second disseminates and refines sentiments. Implicit in one 1s the world view of the society
whereas the second embodies its aesthetica. The main task of art is to transmit and establish
life values and symbols 1n terms of the sentiments of the masses. The manner in which a
song or a story effortlessly transmits the realities of life and ideals to the common people. the

same is not possible for other mediums.

Thus, art i1s the living medium and trusted fellow-traveller for protecting and

developing cultural consciousness. Its importance cannot be denied.

Art and culture are essentially linked with one another. The development of one implies
the development of the other and the decline of one is naturally implicit in the decline of the
other. The development of culture means the development of art and the development of art

means the development of culture.
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What is the main task of culture?
(1) Transmit life-values and symbols in terms of sentiments (2) Systematise society
(3) Provide a world view (4) Remove ignorance/ darkness

AT 1 GeA 1 H1 8 7

(1
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[Question ID = 1695][Question Description = Q92_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6777]

2.2

[Option ID = 6778]

3.3

[Option ID = 6779]

4. 4

[Option ID = 6780]

3)

Read the following passage and answer the question that follow :

“There are two aspects of cultural consciousness—theoretical and melodious.
intellectual and emotional”. The former is mainly related to logic and use whereas. the latter
1s related to sentiments and belief. The first paves the way for life. values and symbols, the
second disseminates and refines sentiments. Implicit in one is the world view of the society
whereas the second embodies its aesthetics. The main task of art is to transmit and establish
life values and symbols in terms of the sentiments of the masses. The manner in which a
song or a story effortlessly transmits the realities of life and ideals to the common people. the

same 1s not possible for other mediums.

Thus, art is the living medium and trusted fellow-traveller for protecting and

developing cultural consciousness. Its importance cannot be denied.

Art and culture are essentially linked with one another. The development of one implies
the development of the other and the decline of one 1s naturally implicit in the decline of the
other. The development of culture means the development of art and the development of art

means the development of culture.
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Which among the following transmits reality and ideals to the common people?
(1) Folk Ballad (2) Folklore
(3) Song or Stories (4) Dance
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[Question ID = 1696][Question Description = Q93_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6781]

2.2

[Option ID = 6782]

3.3

[Option ID = 6783]

4. 4

[Option ID = 6784]

4)

Read the following passage and answer the question that follow :

“There are two aspects of cultural consciousness—theoretical and melodious,
intellectual and emotional”. The former 1s mainly related to logic and use whereas. the latter
1s related to sentiments and belief. The first paves the way for life, values and symbols, the
second disseminates and refines sentiments. Implicit in one 1s the world view of the society
whereas the second embodies its aesthetica. The main task of art is to transmit and establish
life values and symbols 1n terms of the sentiments of the masses. The manner in which a
song or a story effortlessly transmits the realities of life and ideals to the common people. the

same is not possible for other mediums.

Thus, art i1s the living medium and trusted fellow-traveller for protecting and

developing cultural consciousness. Its importance cannot be denied.

Art and culture are essentially linked with one another. The development of one implies
the development of the other and the decline of one is naturally implicit in the decline of the
other. The development of culture means the development of art and the development of art

means the development of culture.
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Who is a trusted fellow traveller of Art?

(1)
(3)

Cultural consciousness (2) Protection and development

World View (4) Common people
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[Question ID = 1697][Question Description = Q94_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6785]

2.2

[Option ID = 6786]

3.3

[Option ID = 6787]

4. 4

[Option ID = 6788]

5)

Read the following passage and answer the question that follow :

“There are two aspects of cultural consciousness—theoretical and melodious,
intellectual and emotional”. The former 1s mainly related to logic and use whereas, the latter
is related to sentiments and belief. The first paves the way for life. values and symbols, the
second disseminates and refines sentiments. Implicit in one 1s the world view of the society
whereas the second embodies its aesthetics. The main task of art is to transmit and establish
life values and symbols in terms of the sentiments of the masses. The manner in which a
song or a story effortlessly transmits the realities of life and ideals to the common people. the

same 1s not possible for other mediums.

Thus, art is the living medium and trusted fellow-traveller for protecting and

developing cultural consciousness. Its Importance cannot be denied.

Art and culture are essentially linked with one another. The development of one implies
the development of the other and the decline of one is naturally implicit in the decline of the
other. The development of culture means the development of art and the development of art

means the development of culture.
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TAFT H % FEih gE H WA AN WAl #| GRen SeH-ged SN WA 9N W #ar B, gE
T 1 TAR 3R 9| o ° oA # fAva-aee a2 A g 6 3w dead-adg | Sfiee-

o1 311 AR D T-99 ] TS § Sfia-Tidtgd #9957 1 F F 2| UF a1 wen =

ST S F1 AAlRAA AT A= F ATH A T TR 7, 99 we-fag e 8§ g 12|

AR AR A1 1 T

e FA T UF g8 H SaEa: I3 50 7| UF o GEW § g5 # Gem 1 UF F 5§ g w6

B TEMAF B H ARG £ HEHA ® fAEE F A 2 Hel w1 G A Fern & A o 2

O =1 )



What does the development of culture mean?

(1) Development of mankind (2) Development of literature

3) Development of society (4) Development of art

TEFHfd F ToFE =1 991 919 27

(1) AT 1 fa

(2)  ®ifecT =1 TTE

(3)  =OH = T

(4) HeAT T TaRE

[Question ID = 1698][Question Description = Q95_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6789]

2.2

[Option ID = 6790]

3.3

[Option ID = 6791]

4. 4

[Option ID = 6792]

Topic:- 70TribalLL_C

1)

Read the following passage carefully and answer the gquestion

It is significant that language 1s a great too for bringing about social change. Whenever
great revolutions take place in the world. it has changed the forms as well as context of the
language. There was a time when Latin and Greek was the lingua franca of Europe but the
renalssance brought in new languages such as. English. German, French, Russian etc. and

these languages have come to acquire a prestige of sorts.

Similarly in India, Vedic Sanskrit was replaced by Lokika Sanskrit, and the latter made
way for Pali — Prakrit. Apbhransh and other indigenous languages. The prestige of
languages such as Hindi, Bengali and Marathi etec.. escalated during the Indian National
Movement. The history of the world 1s witness to the fact that whenever a revolution is
staged. the language of the masses and their literature plays a significant role. The
missionaries of Jharkhand and the forelgn administrators provided a new direction to the
study of language and the literature of the area. They benefitted from it. The results in our

context are visible.
Tt afresst =1 vz S 2o o Toe % T A

A9 % HeH § UF A9 a9 7% i 7 F A 5u F ufeed w1 U 99 SR | g °§ Se-ae w9l

FifaAT 22 2, 9 F =E #R 52 off sEeer T 2| UR o o W@ @9 § At, @ onf g

sl off| ST JadE Tt F e = et F R w@e T s, S, F=L w6 el 3 o

e W |

S @ AT # ATEF TG Hellhd Hegd, TR 9Iel W, SOE9 S - w5 S S e

A F 37 A T2, SN, WS AN S ast =1 iaer $@| Il # sfeEs o8 W w e 2



% Taomfet o el somest 4 =9 &9 % 9I-TiEe % A9 i WA W w994 g 4 off) seE a

== i 7| 7AR Hed ° T gfomy ame E)

What is an appropriate title for this passage?
(1) Origin of language (2) Role of languages

3) Live languages (4) Language movement

T 3AT=a3 T ITIT IAFH 71 7 ¢

(1) 9 F I (2) AT = iy
(3) it wrmd (4) WTT-3T=eA

[Question ID = 1699][Question Description = Q96_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 6793]
2.2

[Option ID = 6794]
3.3

[Option ID = 6795]
4. 4

[Option ID = 6796]

Read the following passage carefully and answer the question

It is significant that language 1s a great too for bringing about social change. Whenever
great revolutions take place in the world, it has changed the forms as well as context of the
language. There was a time when Latin and Greek was the lingua franca of Europe but the
renaissance brought in new languages such as, English, German, French, Russian etc. and

these languages have come to acquire a prestige of sorts.

Similarly in India. Vedic Sanskrit was replaced by Lokika Sanskrit. and the latter made
way for Pali — Prakrit. Apbhransh and other indigenous languages. The prestige of
languages such as Hindi, Bengali and Marathi etc., escalated during the Indian National
Movement. The history of the world is witness to the fact that whenever a revolution is
staged. the language of the masses and their literature plays a significant role. The
missionaries of Jharkhand and the foreign administrators provided a new direction to the
study of language and the literature of the area. They benefitted from it. The results in our

context are visible.
Tt it =1 ggem 4 o o TR % T A

ur % wed § v 3 4 g7 i 2 & 3w gure & ufEdd w1 o w9 sen 2| g 8 sE-ae wg
FI 55 7, W H e AR 6EH W sgedn T | UE W O 5 09 A A, diw ot g
it o1 i o o 3 T e s % g wie ) sEeh, o, e e ok 3

TrdET 9TH |

ol T wWA ¥ AfeF TeFa Seihd TeEa, R Ol T, SEw S gi-wmmet 1 Sae sen ade

ATEEE % 27§ o, aren, wdt e aemE gt = ufaer 9@ 3l w5 sfew ow e TEE 2

o v wifa 1 Aifawr daw =t 2, 99 -9, FA-wifEeT Aseayy Yfew #9E W #| qNEs w0
F TovAfe] o faesf Jonet 3 39 &9 % 9-AiEe F SEEA F W F UF 941 0 4 off | sEE g

== i 7| #AR w2 ® 3o gfom mm E



What is a great tool for social change?

(1) Language (2) Quarrels

3) Industry (4) Agriculture

HIHTT% THEE = &51 S5 F 27

(1) W (2) <TEE-TTm

(3 @M (4) =

=

[Question ID = 1700][Question Description = Q97_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6797]

2.2

[Option ID = 6798]

3.3

[Option ID = 6799]

4. 4

[Option ID = 6800]

Read the following passage carefully and answer the gquestion

It is significant that language 1s a great too for bringing about social change. Whenever
great revolutions take place in the world, it has changed the forms as well as context of the
language. There was a time when Latin and Greek was the lingua franca of Europe but the
renalssance brought in new languages such as. English. German, French., Russian etc. and

these languages have come to acquire a prestige of sorts.

Similarly in India, Vedic Sanskrit was replaced by Lokika Sanskrit. and the latter made
way for Pali — Prakrit. Apbhransh and other indigenous languages. The prestige of
languages such as Hindi. Bengali and Marathi etc.. escalated during the Indian National
Movement. The history of the world is witness to the fact that whenever a revolution is
staged. the language of the masses and their literature plays a significant role. The
missionaries of Jharkhand and the forelgn administrators provided a new direction to the
study of language and the literature of the area. They benefitted from it. The results in our

context are visible.
Teforfom ufresst =t uree o fio o o % T A

T % We H UF 991 49 4% ff @ 9 3w % ufEdd 1 U 931 H9R 2| g 8 Sa-we w99

FifaAl 5% &, W F =ET AR HeW ff sEeer T 2| UF e o 7@ 9 | dfe, #iw onfe gl

sl off| S e w5 g i = e ge we e s, See, s, s el o

TfeEr W =

T TE ARG ° AF FeEd weEd qepd, TR e W, ST6w S G- e e S e

AT % A A 5, Ser, W8l e aeE HIE] i e 99| A 1 SHEE 6 9 w6 e 2
* Tt o fageft Tomesi 4 59 &9 % S-"Eed F e H WO & uF T4 4 A 5mE
st i 771 7OR Ted ° w5 gionm o E |

Which institution has promoted the study of the languages and literatures of the Jharkhand region?



(1)
(3)

Intellectual society (2) Missionaries

All Jharkhand Student Union (4) Aadivaasi Sadaan Sangh

TFE TE 3 F0ES HA F STN-HIEe S5 1 90 ) 0 A 67

(1
(2)
(3)
(4)

St

[Question ID = 1701][Question Description = Q98_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[O
2.2

[0
3.3

[0
4. 4

[0

ption ID = 6801]
ption ID = 6802]
ption ID = 6803]

ption ID = 6804]

Read the following passage carefully and answer the guestion

It is significant that language 1s a great too for bringing about social change. Whenever
great revolutions take place in the world. it has changed the forms as well as context of the
language. There was a time when Latin and Greek was the lingua franca of Europe but the
renalssance brought in new languages such as. English. German, French, Russian ete. and

these languages have come to acquire a prestige of sorts.

Similarly in India, Vedic Sanskrit was replaced by Lokika Sanskrit. and the latter made
way for Pali — Prakrit. Apbhransh and other indigenous languages. The prestige of
languages such as Hindi, Bengali and Marathi etec.. escalated during the Indian National
Movement. The history of the world 1s witness to the fact that whenever a revolution is
staged. the language of the masses and their literature plays a significant role. The
missionaries of Jharkhand and the forelgn administrators provided a new direction to the
study of language and the literature of the area. They benefitted from it. The results in our

context are visible.
Tt afresst =t vz o o o o % T A

AT % HeH § UF a9 a9 7% i 7 5 A% 5u F ufeed w1 U 99 SR 2| g § Se-ae wgl

FifcAT 22 2, 9 F =E R 52 off sEeer T 2| UF o o W@ [ § At, @ onf g

aterdl oft| i e feml 5 3w i o e ge ae ) s, sd, s, s el T R

e WTH |

<t o7 Wi ¥ AfiF Tedd Seliihd TeEd, TR ATl TEhd, SO S 3ui-wrest w5 Sue s age

A 37 A T, SN, WS AN S At =i iaer $@| Il # sheEs o8 w| w TEE 2
wmafeaa i 77 7R Hed § 35 vl A E

During which period did the prestige of Hindi, Bengali and Marathi etc. languages escalate?

(1)

Renaissance period (2) Modern period



3) During the National Movement (4) Ancient times

(1) T Fe

@)  wmagfHE Fa

(3) gl g % Hu

(4)  T=E FE

[Question ID = 1702][Question Description = Q99_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6805]

2.2

[Option ID = 6806]

3.3

[Option ID = 6807]

4. 4

[Option ID = 6808]

Read the following passage carefully and answer the question

It 1s significant that language 1s a great too for bringing about social change. Whenever
great revolutions take place in the world, it has changed the forms as well as context of the
language. There was a time when Latin and Greek was the lingua franca of Europe but the
renaissance brought in new languages such as, English., German, French, Russian etc. and

these languages have come to acquire a prestige of sorts.

Similarly in India, Vedic Sanskrit was replaced by Lokika Sanskrit, and the latter made
way for Pali — Prakrit. Apbhransh and other indigenous languages. The prestige of
languages such as Hindi, Bengali and Marathi etc., escalated during the Indian National
Movement. The history of the world is witness to the fact that whenever a revolution is
staged. the language of the masses and their literature plays a significant role. The
missionaries of Jharkhand and the foreign administrators provided a new direction to the
study of language and the literature of the area. They benefitted from it. The results in our

context are visible.
Freaferfom afres=i =t vz 5 2o o wom % T A

T F Hed O uF w9 AW 7% off 2 R 9w mus F ufees W U w9 @R 2| g 0 Se-ae wgl
FiiqAl 52 7, 9T W TEY SN HeW i sEerd 1 #| UH EA 41 e gA9 H dAied, @i anig A oqd

e we |

=it 7 A | AfF Hed AitEE ToEa, TR el uea, Syw i - w e e e

AR 37§ T2, Sen, $E AN SeEE 9 w1 iaer 9| I 1 shEw oW w| w TEE 2

T S —=@ ifa % diiae JAW el B, IH FH-9E, SH-HEd HEeayyl YR 3991 a2 | gHEs A9
% ool A 92l TomEehl 4 36 &9 % 9I-Hiecd & AT i W H U 941 W 31 4| 3E@e °
wreifaa ot 5| BT wad § e afomm ane F)

When does the form and context of language change?

(1)

During revolutions (2) During religious movement



3) During flood (4)

AT T TR 37 T2 FE A9EE S 7

(1)  wifaa % 774
Q)  uifdw AR * gE
(3) == % T

(4)  TTAF AEeE % O

During social movements

[Question ID = 1703][Question Description = Q100_TribalLL_SHAAN_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 6809]
2.2

[Option ID = 6810]
3.3

[Option ID = 6811]
4. 4

[Option ID = 6812]

Topic:- General Paper_Set1_A

1)  Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given

vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector

Worlkforce of India

Percentage (%) Ratio of Male to Female
Distrmbution (M: F)
Service (S3E) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% H:4
Profezzional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 3:9

FfatE e W fa=m fifsw 5o o 57 50 99 1 oW % f5fim g § 9ne F e w5 ot

(%) faemor Qo geg-ufeen wEEe wquE g9 T 2| '@l &6 % Per wEed H @ed 80 @ng

Alfer=hl ® T2 710 377 = YR W UvH = S g1ty

e (%) oo | Ee-afeen o g | (( 7: 7 )
4T (TE 3) 15% 3:9
TeH (v ) 12% H:3
fmim aff wrgeam (= o) 9% 5:4
mHEeEE (i ) 18% 57
auF (UH 1) 21% 3:4
Ieared 3R ufEea (d &) 19% 58
=7 (=1 &) 6% 3156




What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Teft &t = e 959 Frse i oftud @e g4 27 (FEed & 3 5 aw)

(1) 6.39 =g (2) 4.69 @@

(3) 5.96 ©ng (4) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

2) (Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India 1n different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% X2
Sales (S8A) 12% Bz 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F=3
Others (OT) 6% *h

Fefertaa arfers o it 5w v 53 50 ad 9 79 % fafes e | una % weEee w5 aieea
(%) oo qon gr-afeen wdee ou g@iE @ 2wt &9 % B wEee § e 80 g
AT | T30 70 ARSI % 90 T U9 F 39 20

WAE & FEEA F AT e

wferr (%) foawr | gev-aieen sgu (g9 )
a1 (vF ©) 15% 379
ey (TH U) 12% 5:3
fmtor stk aram () 9% 5:4
qrkee () 18% 5:7
TEYF (T T) 21% 3:4
JearEA @ it (fF #) 19% 518
3= (a1 ) 6% 8:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%
(3) 320% (4) 80%
Ug $ o ot S & H e Afee #eee i $e gen 9 uH A ° Seid gy ke 6 g w5

(1)  330% (2) 318%
(3)  320% 4)  80%



[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:92
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:h

ffafed aifers = faam fifse f5om o fog 5o ad | om = fafim &t © e % s =1 sfam
(%) fammr @ wu-afEen FEEw o = T 2| wd e T wEee w50 =g
ATt § T2 U SATHS] % YW 9 YT % 39 alAu)

WA % FHEEE W AT A

wiewrd (%) T | gee-aiwen oged (79 )
= (TE 3) 15% i
Ted (TE ) 12% 5:3
i ah srem (5 ) 9% s
TpeEe (d #w) 18% 57
TaEe (TH ©) 21% 3:4
Ieare R i (4 &) 19% 5:3
o7 (= ) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH T AT UH U A § w059 wEed ) Fd S 0 3 & § HE wEed §i we S 5 o
feramn wfcwa 27

(1)  82% (2) 87%
(3)  89% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1 [Option ID = 8033]
2 [Option ID = 8034]
3 [Option ID = 8035]
4 [Option ID = 8036]

A w N =

4) Consider the following table that shows the percentage (%) distribution of workforce of India



and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% X2
Sales (S8A) 12% Bz 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F=3
Others (OT) 6% 3:5

Fefertaa arfers o it 5w v 53 50 ad 9 79 % fafes e | una % weEee w5 aieea
(%) faam a1 gEe-AfEen FEEe wATE gmE T 2| @ & % Fe wEed F e 80 o Al
AT | T30 70 AR % S9N T U9 F 39 A0

wferorE (%) e | ger-ufeen wgE (709 )
a1 (uF ) 15% 3:2
ey (ug ) 12% 5:3
fmior 3R srEEm (i ue) 9% 5:4
mHTEE (i #w) 18% 57
T (TF T) 21% 3:4
JearEA @ it (fF #) 19% 518
¥ (=7 7) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

UH U AN UH U A § HEit Afeen ®rEed $ $e g A 6 A & o weg afgen sEee S ge w6
A T 27

(1) 5.1 «fi@ (2y 7.5<m@

(3) 579w (4) 1329

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Workforce of India

Percentace (%) | Ratio of Male to Female



Dist-ribL;tion' M:F)
Service (SE) 15% 32
Sales (8A) 12% o 3
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% B
Others (OT) 6% ]

fafafed oifes = faam fifse f5om o 57 5o ad 4 oom = fafim g © e % s =1 afam
(%) faamm a1 ge9-afzen FEEs e @ T 2| B & % He wEew S HE 80 wg 2
ATt | T8 710 S77RST = SYR W 999 = S a1y

i (%) fereaor | gEa-aiEen s (77 )
Ha (T 3) 15% 3:2
HeH (T ) 12% K:g
Frmtor aft srpam (4 o) 9% 5:4
TFEe (f7 ) 18% 5:7
TaE (TH T©) 21% 3:4
Feara AR i (d #) 19% 5:3
a7 (=1 ) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17:39 (2) 16 : 37

(3)16:35 (4)16: 39

ot vH &7 § FEET Aieen FHEwd S S o W A7 vE o F &F ¥ FE w FEed 5 B qed w5

I T 7
(1) 17:39 (2) 16:37
(3) 16: 35 4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

HEAA = 8 T ¥ G TR FaR 31 G591 F T8 T AR 6 e W W] 87

(1) @& (2) wrEETT T
(3) T =1 (4) w@EmEE TFE ==

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8045]
2.2

[Option ID = 8046]
3.3



[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafas T affe aem quae f 9=t @ e aes gadi fafim wat & e 1 =

T | 3% MU F EER FET i AHAT 2| I U H i Ea e SEE % s Al 67

(A)  eAeH-gw (FWe)
(B) faEsm
(C)  FEm i afeufa

(D) HEMO]

(Ey  A5rFar

e T3 o oot § § B I w1 =Ea A

(1) (&) = (B)
(2 (B) 3R (C)
(3) (D) = (E)
(4)  (B) =R (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I) Using Swayam and Moocs

(B) Open and distance learning method (ll) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(I), (C)-(IN), (D)-(1V)

(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(1)

(3) (A)-(V), (B)-(lI), (C)-(I1), (D)-(1)

(4) (A)-(11), (B)-(1), (C)-(1V), (D)-(l1)

Tet-1 % @y gi-11 o1 foers $ifse) g=i-19 =3 wiftem wene 1 foao £ fafim & 0% 2, safs ge-

—r ™ ™~ v o~ - ™ B F =N .~ -~ r



11 H AHTH ] =l AH11=E001d] sl =nl deeni=n of iz &1

-1 FE-1I

Tarego =i faferEn TATEI AT FET w1 A
(A) - i SAdzeaTeas oty () =599 3 q38 F1 7=
(B) T 3R gad! wferm fafy (II) wfawiaa e e
(C) Tarequr =t Safeen fata (II) wisger AJ2aeR A
(D) e =it sATerEs fafy (IV) uf=m=t =+ wa-wy fomees e

= fau o fameul © O wE 3E w1 = FitAv

1) (A)-D. (B)-II), (C)-(ID), (D)-(IV)
@) (A)-IID, B)-AV). (C)-1). D)-II)
3)  (A)-AV). B)-(IID). (C)-AD. D)-I)
4)  (A)-ID, B)-). (O)-(IV), (D)-(I1I)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (I) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (1) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

o (D) : IUETed AT TR WS S WA % S S IR a9a F S dE

T2 (ID) : TR =l Tam s e stha wan whentdEt % fafre =R 3
wT ¥ R o dAn R R

I U A °, {25 e fasedt § ° ged 3ugw I = i

(1) = (D) =i (D) 241 =2 2
(2) = (D) 3 ID) 3 e F
(3) T (DT 2, wfE Fem (1D T 2

(4) == (1) T=4 2, @t 99 (1) 58t 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).



Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

H= 21 FuH o e # :ouE wiEeE (Assertion A) % ®9 ¥ fafga ® @1 g1 35S F0 (Reason R)

AT (A) e & smgfe o o2 @ & e gEEa Tl =1 FfEa wErEe sfirm afommr
#F1 TEAH 9H &

F0 (R) ToRelt et forerr wEmrET oonel w0 st aRiEdteAt § gun % 'y w6 e A
S

ER e n e e R e ot ot B o G e i i | = e o et e o o e A L

(1)  (A) &1 (R) A1 79 2 31 (R). (A) Fi =& =z 2

(2)  (A) 37 (R) 31 = 2, |fF (R). (A) it wdt =men 796 2
(3)  (A)mea 2, AfF (R) 70T 2

(4)  (A) 33 2, ©fF (R) &7 21

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

o SRR % wia § AT -ufe i dreated e S v

(1)  F=mdta =g (2) tfaefas @y
(3)  =AEETH® WY (4) TEFTE TG

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

afiemerat i foaeht aforfa = @ sifgfe =1 smfe + =9 4 =it 2, @va i fFefateg 5 @ B fafe

= TIY TN & 7

(Ay  Tagones &@tg
(B)  wAFTeR faty

(C)  =mEme =g

pr—— 5 ¥ ST o MO oW o= 8



Lr) MITall==E 1915

(E) =g f&ara

Jr= fou o faseat @ © wE 3T 0 =EA i

(1)  (A) #71 (B)
(2)  (B) ¥R (C)
(3)  (C) ¥ (D)
4 (D) = (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (Il) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (V) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)

(2) (A)-(D, (B)-(I1), (C)-(in), (D)-(IV)

(3) (A)-(In), (B)-(lI), (C)-(1), (D)-(IV)

(4) (A)-(1n), (B)-(h), (C)-(1), (D)-(IV)

g1 % Ay gei-11 = foerm =i g=i-1 9 oie = =707 e 2, S=ts g=-10 § 3705 gR1 W a5

FET-I Tt-11

oY = = TR | WG AETE! A
(A) HwEET A (I) AT 1 TR AT T T
(B) wfcewT Fam (II) ©F TevR T2 W THEAT H AT
(C) wferraa wfsean =1 == (II1) == = &7 § g7 74 336
(D) sArRe fagemm (IV) =% = =1 = =l Gee T

H= fou o el @ | ®El 39 W =9 FI0Au

(1) (A)-(II1). (B)-AV), (C)-(IL). (D)-(I)
(2) (&)-(T). (B)-(II). (C)-(IIT), (D)-(IV)
(3) (A)-(ID), (B)-(IID), (C)-(I). (D)-(IV)
4) (&)-(IIT), (B)-(I), (C)-(IT), (D)-(IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement () is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true



e 31 e fow e #

Fo7 (D) : UF WY-TEY A We-T3 § SE o1 HeA % wEEy ofR 9l % e wmE war 98
e 2|
o (1) o1y weHt Afahar # TE FaeE adt Al & fore sfEd 2

ITTRE Y F AT °, A9 5T T el § | e 39 B =99 i

(1) =99 (1) 30 (1) 2F =ed 2]
(2) = () 37t (1) 3T 37T 3
(3) = (I) we =, =it = (1) 3180 2

(4) =% (I) 99 7, witha waA (1D 77 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

4= 31wy 20 0 E ;. uF wHEU (Assertion A) F T H fofEa 2 A B 3% FW0 (Reason R)
HETH

AR (A) : Rt g afiea (Hy) =1 Femekofia giekesn (Ho) =i gema ° afigo e s
a] 'T,-[-1|
F1 (R) oite wfewem (Hy) =i whamfs i stagfe g =g @ 78 $1 51 @5di 2

I FYT F A |, 49 70 e § 8 wee S S5 R =99 i

(1) (A) R (R) 3F1 W8 & 371 (R), (A) F7 W ==m= 2

(2) (A (R) SAT TET F, = (R). (A) F w2 = 115 R
(8) (A W 2, AfFA (R) WA T 2

@) (A T T 2, 9 (R) TR R

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

AT UH TiTe Tedsh av U8 UE feaw fetatad § 9 et w e e 7
(1) 30 S (2) 30%g

FiLs 2% 1c =T—T=TT £ AN i & TITT=1IT



ety pp e s i s NS L e il )

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

o TmmmT =1 adtE-fa () "Let truth prevail” 27

(1) 2 =emsm (2) TEE ATE T
(3) T (4 =feg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= F‘:T A fau "Tﬂﬁ . UF WY (Assertion A) % ®9 H feifiga % Al T 9% FA0 (Reason R)
HE]H

R (A) Al TERY (FTeFRe) SEEHa Afas Fafwsie i ow0E 7lar 8, Teg 93 difsa
i T9% | 39 U9 92 W 2

F0 (R) : SeTz JET (s difsar @ dwwf a1 F 2  w=E 2
I FYT T A A, 4= 70 T e 8 8 wee I I R =9 i

(1) (&) " R) FA T 7 50 R). (A) F 76 == 2

(2) (A 3 (R) ZF TE E, = (R), (A) il T8 =me T 2
(3) (A = 2, s (R) E A9 2

@)  (A)wE FE 2, Wi (R) WA )

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHET % 39T AT =g AET U Aqahies 0 TR O TS aniys e 3 et afed g



(A)  wEE Tamm At i ama e e F e

(B) == walm FoiHal S # |19 9E 44 o)
(C)  arEfrER 1 foen gonel = = waE & fen)

(D) == RN 7 F o FF Hifem w wema v i wm o)

e 2w o fasedt @ | TEE UG IO H WA AL
(1)  =ad (A) 271 (B)
(2)  Fa= (B) #1(C)
(3) =& (C) ¥t (D)
(4) === (A) FH (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

H= & 12 = 9 9w i aAEm et = = fif

A) =
(B)  aFgEa
(C) TamE
(D) @t

(E) =9 =14 841

= for o faeeT B § WE 39 o =99 FI0AT

(1) e (A), (B) 3 (C)
(2) === (B), (C) ¥R (D)
(3) = (C). (D) # (E)
(4)  =ae (A), (C) # (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]



16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

T 99 = S0 U AT R S TR o9 U9 3 BEAT | 4000 ¥R, 36h AT 4 HEAl 9 4500 T
3w #Afam s 9§ 5000 T @) =2 3@ A % A FA =G 5000 ¥ ft 91 3@ uftaw A shEa
e 2 TRt ot ?

(1) 3000/~ %% (2) 4000/- T

(3)  5000/- =5 (4) 6000/- =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 © 90 * =g F Wi WuT "EmE g wa -

1) 765 (2) 98.25
(3) 55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

e = 33 #few 39 = W 11w 3u F fawa gem % wvew @ Afdq wa ®) afowa e
Q\E{-:

1 25% @) 50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

atz fofedt =g = =T gea 3 A 9o w1 95% B a1 = i ufderaan w4 27

(1) 4.26% (2) 5.26%
(3) 5% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?
(1) Rs. 1,600/- (2) Rs. 2,000/-



(3) Rs. 2,080/- (4) Rs. 1,560/-
Ifz =iz =3t Tt =eg *1 25% ufawd i =16 @ 38 1200/ - #9% & s=a1 2 | 30% =0 =" 9 *

feru 38 9@ =g =i e Sima o s=AT =fE e

(1) 1600/~ = (2) 2000/- =
(3)  2080/- =w (4) 1560/- =%

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

Tl WA SAAE B YA A FEtatad § § wE-9 96 3w 95 G A 969 % 9 eeEa W

ST 27
(1)  wamE (2) IgEE
(3) IH (4) FFTElY

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

AT RO F HTERE A F AHA § w0 el R 9 A
(&) TEmd T 5 g i T mEE W FE (39
(B)  =mol = F9A (9)

(C)  wifigumon =i fagl & =u # gfe (fma)

(D) fiemon 1 w9 ()

(E)  Tafea faam =1 sgmemm 24 (3gmmn)

e fou mu foskedl ® ® @E ST 1 9 HIC

(1) (D). (E). (A). (C). (B)
(2) (D). (C). (B). (A), (E)
(3) (D). (B). (E). (A). (C)
(4) (D). (E). (A). (B). (C)

[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]



1 [Option ID = 8129]
2 [Option ID = 8130]
3 [Option ID = 8131]
4 [Option ID = 8132]

A W N -

23) WWhich of the following schools of Classical Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?
(A) Nayava
(B) Vaiéesikas
() Buddhists
(D) Mimamsa

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :
(1) (B) and (C) only

(2) (B). (C) and (E) only

(3) (B) and (E) only

(4) (A), (D) and (E) only

T GNAR Z9A9E i A -E WEEE 95 THO H SGEE AT gl 2

(A) =m
(B) aufrs
(C g
(D)

(E)  =mars /e

Hre fou U faheqi § © @E 3T = =G whifAC

(1)  =ae (B) #1 (C)
(2) === (B). (C) w0 (E)
(3)  =haw (B) 31 (E)

(4)  =Haw (A). (D) 31 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (1) is true but Statement (ll) is false

(4) Statement (1) is false but Statement (ll) is true

Hr=t 2 = faw o #

- (T . B e e . - Y S W



.

o (1) At W= T el gal 2 6 26 TEE 0wn @ sEm e =iEn atew e T8

waTdl 2 6 56 aEE o 2

IYI U % AT |, A= B e § ® HEl 39 w0 =ae it

(1) == () # (I0) 2F 927 2
(2) = (1) #A (ID) 31 1T B
(3) =Y (1) 7 2, #Afa oA (1) w59 2|

4) = (1) 516 2, =k w9 (1) 99 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List I

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (l) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

gfi-1 = = g=i-11 =1 fae fifsm)
-1 Tt 11
T & GEZIEE]
(A)  Frfamon 6 warie & w9 9 gie (Iy =& ga1i gar & 98 07 Bl & od Wi
|
(B) =HHUT = HIH (IT) 9Tt OT 31T 2|
(C) fafea o =1 sgmam & (IIT) sHfew URTE] 0 3777 2|
(D) TyTiad 1 AT AR F wYE (IV) it Fat g 21

Fr= f2u o fasedl @ § @ 3w o =9 i

(1) (A)-(D). (B)-IID). (C)-AV). (D)-(II)
(2) (A)-(IV). (B)-(I1I). (C)-(I). (D)-(IT)
(3) (A)-(III), (B)-(IV), (C)-(I). (D)-(IT)
(4) (A)-(IT), (B)-(I). (C)-(III). (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than



previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF W75 & FOHI A B Bl U U A9 Hise % elu2id w1 i e 2 e e fage o gua w6 2 e
HI Tl Sueia wige) i AUHT AFEE ° i A 999 § 9 2

1) wE= (F=) (2) w1 3FEa
(3)  wifers W2 718 3EA (4) U= S ST

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2 Fea T2y 70 # ;. w wiimed (Assertion A) % &0 H fafigd ' Al TH 5% #00 (Reason R)
®EIH

AIFH (A) i i Nt Lo B e B e T e A o 2 et e o M e e e o0t e | e ey
#10 (R) ; T A FwEE 'Y dN W S | HaE 6w @ |

I HI % AErs |, = 5 T e 8 ° e 39 W 59 i

(1) (A) 377 (R) 21 729 3 =01 (R), (A) Fif =&t = 2

(2 () 3T ®) 3 T F, wEE R), Q) F wwE =men w6 2
(3) (A =ed 2, & (R) 399 2|

4) (A z@e 2, |6 (R) O 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) ldentify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (©), (A), (B)

TeH 93 H TEH D] AEAT % FH 4 HEEd WERE GEAE % A8 %6 1 5= i)

(A) 1500 M Bytes
(B) 5 K Bytes
(C) 1 G Bytes

(I T Byvtes



Hr fou Tu fasheqi # @ ®F1 3w 1 979 Hifaw

(1) (D). (A), (©). (B)
{2) (A), (D). (C). (B)
(3) (A (B). (C). (D)
4) (D). (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (ll) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

FATEA F HAd H O =g oF - e am w, = 2w fmmm E

w7 () : TE-FT Fl I 529 H F9 w2
w7 (ID) AE-FTE F A W sy il S FA ATE A W W T2 G 1w 2

it i 10 Bl ot 0 O 1 A L T e - B o e 2 e e T Ll

(1) = (1) =i (1) 3 @ 21
(2) W (1) ¥ (1) FE e #)
(3) =W (I) " 2, AT wuA (II) A9 2|

(4) =9 (I) 39T &, wifba #9710 9 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

g1 % Ty g=-11 # faee i)
-1 AT
(T mivaTe 715g) (TS
(&) OCR (I)  2fa =1 weafciEa sl 1 &6 & 5
fere ugw w1 R
(B) OMR (1)  =-Tammedi whamat # 3% 799 # & fao

(C) Email (IIT) STHA=TS FrgHeRT



(D) Instant Messaging (IV) #HFric® mujH:h«H

Hr= fau U feedt | @ WE 3T 1 = i

1) (A)-AD. B)-d). (C)-AV), (D)-AID)
@) (A)-AD. B)-A). (C)-aID). (D)-AV)
(3)  (A)-D. (B)-ID), (C)-IID), (D)-IV)
@  (A)-D. (B)-AD), (C)-(IV), (D)-(IID)

Match List I with Last IT :

List I List IT
(Computer Terms) (Purpose)
(A) OCR () Used to scan typed or handwritten
documentsa
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (III) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

(1) (A)-(ID), (B)-(I). (C)-(IV). (D)-(I1I)

(2) (A)-(ID), (B)-(I), (C)-(I1ID), (D)-(IV)

(3) (A)-(T), (B)-(IT), (C)-(ITT), (D)-(IV)

(4) (A)-(D). (B)-(II). (C)y-(IV). (D)-(I11I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Fferfiga 9 & S99 ©F HSHE S HA A gy 2P
(1) T SEATFEES (2) TouTss FewEs
(3) T SEAEETES (4) A

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

fferfiga # & FH-m w1 @9 w1 w1 =9 75 27
(1)  =aiE s (2) = F

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]



33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

frfafan § o -t ol smaer s Sedt 3 i 3uE sy aF S a2 2
(1)  g%= (2) TEEHE TEEE
(3)  wEmTE (4) TEA

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

S

TITH TN | THEE w5 G % "@ed § NMSHE FoafefEs § o e gamen 27

(1) National Mission on Solar-Hydro Energy
(2) National Miszion on Sustaining Himalayan Ecosystem
(3 National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayvan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frafafes & 9 77 ugust =1 wfage 79 591 & e it Ferag aied W oasdar 2 7

(A)  ATZESHE SEATFEES
(B) =W 9214 (PMas)
(C) =1

(D) s

(E)  ArsgE #nieEEs

e T2 Tu ol § H " I F =E A

(1) === (B), (C) # (D)

(2) @A (A). (B) 21 (C)

(3) = (B) 3 (D)

(4 == (B) 3R (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]

2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]



4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
7= foan % #=d 9, AEEE T=AR A § A e § uF agass N 9 Ayt wm F
Fr=fafas 9 | e wde Hem /weEa # Few e

(1) 7 (2) TwAH e
(3 wHIamA (4) TaEHEIEE

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
Listl ; ; ; ; Listll

(A) NAAC ; ; () Delhi

(B) NIEDA ; ; (ll) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

o1 % @y g=i-11 7 e Fifsm)
g=hi-1 F=it-11
(A) mETTH O gl
(B) mRwRITT ) ==
(C) w1 S HAR 3% Iy ==75
(D) i £ = g (IV) =T

et fou o fakedi 4 & @A 3o 1 wEA Fifw

(1) (A)-aD, B)-(IID), (C)-(T), (D)-(IV)
@) (A)-AD. B)-(D. (C)-aAV). (D)-(II)
3 (A)-ID, (B)-AD), (C)-T). (D)-IV)
4 (A)-AV). (B)-(ID), (C)-D). (D)-(D)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

7% fore ifa (ua § d1)-2020 ° w3 < i vs Fi e F= w wwE 2| 3w e # fated v s 7

(AY TR O aTEaTs 3T 99T B 90 Hew 9w )



(B) 11T =1 HATH 7g AR F TAE o Heg 9 HEE F e EE-T2R 2 U 59 e
(C) =t RATE 9T i TETE 3 H Tl &g SRSl Eeem w5 e w5
(D) T OftaEl, F6 3R Fearg ufEdd F & § ATas e w1 W e ag e reeEe

(E)  Toram dtenfiefi o sifg® oI Seumme amars 1 Fmmor =

= fou o el § O wE 3E %1 95 FitAu

(1) =3« (A), (D). (E)
(2) == (A). (B). (E)
(3) == (B), (D), (E)

(4)  FFE (A). (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (©), (D), (E) only

ftatEs & 3 -3 323798 99 2 7
(4) =@

(B) W=

(C)  F=Ew

(D) e

(E) 7%

= fou m famed § O HF1 I 9 =44 Fi

(1)  #== (A). (B). (E)

(2)  HaA (A). (C). (D)

(3) == (B). (C). (D)

(4) == (C). (D). (B)
[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]

3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?



(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T TP HE 29 gl A4 2015 H Had fawE wea-4 8@ geiad FefetEd 4 @ se-a 958 aqeaE
=T °ry

(1) 379 TIEed 3R e (2) TR faa

(3) T IER (4) FEF FEER TH STEETEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1 [Option ID = 8201]
2 [Option ID = 8202]
3 [Option ID = 8203]
4 [Option ID = 8204]

A W N -

Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic Tecovery.,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

I T HEEHEE U T §H W15 148 T W H I 3

HFT T FHE5-19 T2EE 291 599 w1 AYdYs 3790 SR g win e faveag & aw o
St A 21 fowet a4 % sifam 241 4 vfeen @ sue I3vE % WY T AE HIERCH L BISH Teah
TEET B 99 2| O 0F @E F9 H 10 T S SO FH T 95 7 AR A # R #
T SEEAE A IS 93 1@ 2| Wed 9% WEWNl W G ° Fa 9% 2, 98 Uh SYayd
aETfaE-AfF wwz i B 29 F UcAE AN THE UWiEd 2| E SRR @EiEs g HiR
TSHITa® AT USH a7 T ot GEE a9 e e e A1 2| Y U8 1 A Afds qiqai
(fearft) @ 7 w3 & ft o 7011 99 T = w7, W @ T e e we & meEm ¥ A
e ged gegl w ff 4@ w8 a9 3 dfvaw amdE artEn FEeE % owd w0 ol g w s
THTAF T Agcd § O R T 2| W G S A e o e e 1w 3| 3 6o o uiiesfe
w9 GEFE B W W g g gl R viee 3 wHg-te Wel 9% B S#algiEa 99 E@eT w6
g & TR 400 fafemm (40 =rs) =iom i St 1 wwdt 71 fava d% 4 wTEE w2 o s ad
w-maur (ifedm) 4 110 fafeme smfeh g 6 = smof| soew sifqum 2 B 500 fafemm (80 =ug)
ST AT A A # O FRA § Tnd TE A |

The major crisis faced by the world since World War Il is in which area?
(1) Industrial (2) Technological



(3) Communication (4) Health

fad favagg = =12 fava =1 o9g 531 9% 5a &3 9 51797 27

a S @ e
(3) o= (4) =

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]

A W N -

1 [Option ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
4 [Option ID = 8208]

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1s much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this yvear. which could mean 800

million people will not be able to meet their basic needs.

TS T WEEHYEE Ug q9T $EF @15 150 T 99T I 2

AT TEE FE5-19 TEMR 591 09 1 SAYTys I79F =R g% 31 5 g + an o wew
ot AT 21 Tt @4 % wifom B4 4 o 4 oot 339 % WY TE A9 HIrHEH B BISH TeuE
TR B b 99 21 3@ 0% @ 9 4 10 9 o SO I a1 99 7 SR ol aead i a #@
YT SFEEAE S IS TS @ 2| Wed TF WEEN WA R d FEl AGE 3, TE UH AYaqE
TETER-AE w2 f B 29 W TeA® oAt TEE UAiEE B SE% SRRl @ e i

-

TS T4 US4 a1 7 T oftd GEA 9% TR O T AT 2| G99 0% & Amias At afquh
(ferarft) ® 7 o 21 ft v a9 TEE AR T 2, W € 9w fOve e wed F veam U 9w w
e Hudl geal w1 f 2@ @ R 9u g% et umErE s FEem 6 wE W of g s
A-AE % Agcd 3 e R T 2w T S and Ssfen ol amm e w 2| 3= T8 e o afifesfe
wE T B W W R B {idiE gl ok S Wi wEg-uz wel 93§ AeigE oW 5Ed
A9 & 6 400 fafema (40 #rs) i 1 e =1 @t 71 fava & 3 wgEE @ 2 B e
u-uaur (ifada) 4 110 faferm amfeh s i =l smofl) see srfiyom 2 B s00 faferm (80 #us)
SR AT g e w0 w6 gad T@ )|

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

wemrl 1 Frefeta 4 9 fea & w awE T8 s 27

BILIEED (2) i
I AT THA (4) FEEW



[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]

AN wN -

1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic Tecovery.,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

I T HEEHEE U T §H W15 148 T W H I 3

HFT T FHE5-19 T2EE 291 599 w1 AYdYs 3790 SR g win e faveag & aw o
w€t T B et 9 sifom A ofien | o 399 F WY TE 9 SRR B BIEE IoE
TEET B 99 2| O 0F @E F9 H 10 T S SO FH T 95 7 AR A # R #
ST SHEAE AiF 33M1 95 1@ 2| Wed 9% SNl WRed GhZ ° HEl SAUd 3, T8 Uh SAYaqd
R G B e T | M A e B (o e T s T = = A - e e L i T
TSHITa® AT USH a7 T ot GEE a9 e e e A1 2| Y U8 1 A Afds qiqai
(fearft) @ 7 w3 & ft o 7011 99 T = w7, W @ T e e we & meEm ¥ A
e ged gegl w ff 4@ w8 a9 3 dfvaw amdE artEn FEeE % owd w0 ol g w s
THTAF T Agcd § O R T 2| W G S A e o e e 1w 3| 3 6o o uiiesfe
w9 GEFE B W W g g gl R viee 3 wHg-te Wel 9% B S#algiEa 99 E@eT w6
g & TR 400 fafemm (40 =rs) =iom i St 1 wwdt 71 fava d% 4 wTEE w2 o s ad
w-maur (ifedm) 4 110 fafeme smfeh g 6 = smof| soew sifqum 2 B 500 fafemm (80 =ug)
S AT g SEt S g e | gwd T A

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

FIH-TT HEEM FGS-19 H FaH F7 TG 5AT 57

(1)

(3)

T (2) = e
ST feran (4) wTzFRizHT

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]

A W N -

1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]



Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1s suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and 1ncome, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS I AEEHYEE U 9T $HF @15 4T T W9 H I 2|

FHAFT TEE FG5-19 FEMRT TR 759 F AYTIS I79F T2 Fhe 3R fgm favedg & o i aow
g A 2| et a4 % sifam 241 | uften § sue 3299 % W19 9% G S i BigH Ui
TR B e 99 21 37 OF @ ®9 H 10 9@ o SO I a1 99 7 R ol aead w5 ow #
ST SHEAE AiF IIET U5 @ 2| Weg 9% WEMEI WReT WhZ ° HEl HAUE 7, TE UH AYAE
aETEE-ATE w9z H 3| 29 W U oA SHE Wi | SE% SRRl AEmss Ands i
T TUTE USH A § TR o wee qs e T A B | g ag s weEitas st
(feradt) @ 7 wa & ff o T 9 T W T R, 919§ 7% fOve TR e & 5eAn ¥ 99 ®
= wedl geE w1 A 2@ w1 2 9w 9% afvew amdm et fEea F e W ot 3w e
oA % Agcd 3 e e T 2w S A S ol arm e w 3| 3= 98 e o afiesfe
w9 GEFg B T W A g gl wgl % wiee i wHg-dz Wl 98 B SAaUSE 9 E@eT w6
e & TR 400 fafemm (40 #is) =i i Stwfei s wdl 2| faga s 3 wgEm @ @t oo
w-Tm (ifeE) 4 110 fafem smfeh ser 6 =i soft) soem sifiom 2 7% 500 fafesm (80 =#0s)
ST AT g S # 9 FRE § A T8 A A

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

e 4 | fopm gegy 5 UN =t @it oo wiamfs (feredl) 3= =i 590 w2 T 27

(1)
(3)

UNDP (2) UNICEF
UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]

A W N -

1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the

ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asia late last



vear, the virus has spread to every continent exXcept Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. 1t has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's soclo economic Iecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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